Q. pCIC

Parkwon Caster Industrial Company




Company History

Xk 347 x5y znof Hjoj2g Matsle
E=XE 7|2 BEYHD M= Hi9 JIAHE
B AR

20| 2310} 20114 GPCICE HolM T 8% Lct
D% ofp|eg MO R M2t J|Ro| EEE
=oAL

PARKWON has manfactured super accuracy
steel balls and bearings since 1973.

We applies the special skills which has been
accumulated in the course of producing steel
balls to make smooth and nicely revolving
PARKWON CASTER.

We are sure that PARKWON CASTER can be

a very good partner helping your businesses.

PCIC.,.LTD

Sy,

1973. 4@ 3+ SEA 28

1984. ot s&Co=Z O™

1988. REdE27|Y U

1989. X 23 M

1992, d& =& A%

1994. A& Heading M/C = ¢
1995. FHL}C} 2= A| =

1999. ZOJA[OF, HIHE =E A%
2000. 2t 5 A 28T ¢
2001. QS 9000 QI=

2011. @PCIC Hol M &l

[SEAE]
CHX| : 10,000m*(3,000)
HE : 1,650

1973.
1984.
1988.

1992.
1994.
1995.
1999.
2001.
2011.

Established Parkwon steel ball corp

Moved HWA SUNG

Chosen for promising small middle size

corp by Goverment

Initiated exporting to japan

Faeilitated new heading M/C

Initiated exporting to Canada

Initiated exporting to Malaysia and Singapore
ang expected to get gualification of QS 9000
Established PCIC corp.

[ Scale of Company ]
Size of plant : 10,000m®
Floorage : 1,650




PCIC

Parkwon Caster Industrial Company

| .
e

PCIC

t2| sl

M

55 StListLt dAr7|Eofl et

XA 8o

KSt8S d=lst=

, 2% olB 2

<d
=

<

ojn
Hio
jod

R

jol

L|C}.

ol
ol

ok
K

7|

.I

I AE

www.pcic.co.kr

%



x 77

PR -
R -
S -
Lo -
I _
by -
e
P -
S -
PR -
S -
) -
B
S -

1000 SERIES

1020 SERIES

ZIHAE{ SERLES

2000 SERIES

2100 SERIES

2200 SERIES

2500 SERIES

2500-1 SERIES

2625 SERIES

2700 SERIES

%0%0 SERIES

%040 SERIES

%050 SERIES

7100 SERIES

cHEE S aMAE

Light Duty Castev

cHiTh amie

Light Duty Caster

% aMAE

Ball Castevr

W34 h mMiE

Light Duty Castev

chiTh amied

Light Duty Castev

ZAFT71S AHAES

- -

Business Machinc Castev

W35 d MAH

Light Duty Castev

For%d amAE

Light Duty Caster

W35 d MAH

Light Duty Castev

For%d MAE

Light Duty Caster

ek MAE

Light Duty Castev

Wl MAH

Light Duty Caster

ek MAE

Light Duty Castev

WHEALL aqAE

Stainless Steel caster

N

o

G

& &

77

& q €

1 |

i

@ e e



CONTENTS

by -
o -
b -
R
o -
e -
by -
PR
U

7101 SERIES

%1251 SERIES

%200 SERIES

%%00 SERIES

3000 otAlBE SERLES

%% SERIES

%41 SERLES

51 SERIES

7500 SERIES

WHEAIL aqiE

Stainless Steel castev

Y

WHEAL aniEd

Stanless Steel castev

o

9

W3r5h MiE

Light Duty Castev

Horhd MAE

Light Duty Castev

TS AHAE

Scof€old Castevr

Horhd MAE

Light Duty Castev

F3rE L aMAE

Light Duty Castev

|

Horhh MAE

Light Duty Castev

0,0
BIwlL aHAE

o

Deluxe Total Loc castev



DY

e
PO
e e
PO -
g onc
o one
oy onc
Cy one
e onc
o oo
o onc
) oo
e onc

40~100 SERIES

5000 SERIES

5000 NYL SERIES

5000 ER  SERIES

5000 HPU SERLES

5101 SERIES

5102 SERIES

5200 SERIES

5201 SERIES

5400 SERIES

5500 SERIES

5500 okA4lgt  SERLES

5700 SERILES

o
Z'el 2L MAE

Foot Caster

Z3t5 L aMiE

Heavy Duty Castev

228 aMAE

Heavy Duty Casteyv

Z3t58% aMiE

Heavy Duty Castev

%ot h mMee

Heavy Duty Castev

YA Z5eRd aniE

Stainless Steel Castev

WHEA) B3t B8 A A

Stainless Steel Caster

Z3t5L aMiE

Heavy Duty Castev

YA F5kE L aniE

Stainless Steel Castev

Z3t5 L aMiE

Heavy Duty Castev

%ot h mMee

Heavy Duty Castev

Z3t58% aMiE

Heavy Duty Castev

BEL mie

Shiock Absovbey Coastev

& & & &y

4
i
!

@

?

A& &



CONTENTS

59 PBC 5800 SERIES

60 "ttt PBC 5900 YOKE SERIES

61 ......... a‘E-E_

Gy e OB
6y e OBC

G4 e OBC

65 e PBC

CE e OB

G e PBC
PRI PBC

O e PBC V o432
e oBC U

g eeeeerees Sfa1 SERIES

T e AL°Y% SERIES

1261 SERLES

1500 SERIES

1600 SERILES

8000 SERIES

8100 SERIES

8%00 SERIES

23 SERIES (&

2555 MAH

Heavy Duty Casteyr

Zak3E aHAE

Phumatic Tire Castev

2|ZE

L€t wheel

235 E MAH

Heavy Duty Casteyr

2355 MEE

Heavy Duty Casteyr

235 E MAH

Heavy Duty Casteyr

22354 MAE

Utya veavy Duty Caser

T35 E MAE

Utra veavy Duty Casev

%2355 avted

Utya veavy Duty Caser

WER) G358 aqiE

Stanless Steel Castev

43 AMEE

Angle Caster

oHL aqAE

Angle Castev
Eaalu]
Equipmen-t
47171

Equipment

¢ @
i
]

v

-]

& & O

"II
1

o & o

¢ & &

§ 1 e



WWW.pcic.co.kr

PBC 1000 stries

C}2 =8 7§AE| General Duty Caster

R N

o OjCH 2% FIEH

¢ 4" o7y

N
—
=
>t
-

ELUE PNy

Il E! == == = PI—ATE %éﬂ}IEl O K,j}:ﬂ
TR gu s |S¥EEA0D| uRER |63 | HANZ |HAZ) Hoid RR o
S TLB ER Kg ] W | Bearing F C HolE| s |TLB| S |TB| H
1010- 1010- 1010-
25(1" 39x33 | 30x24 | 43 38
RERB | SERB | S ERB TLB 13 | @25(1") | 13 606ZZ | 39x X 16 | 16 | 28 | 52
1012- 1012- 1012- | MIRAGE 232
39x33 | 30x24 | 43 45
RERE | SERB | SERBTLE | (ERB) 17 (125" 13 1 606ZZ| 39 X 17 | 17 | 33 | 56
1015- 1015- 1015- 238
46x38 | 36x28 | 5.2 53
RERE | SERB | S ERBTLE 25 157 17 | 608ZZ| 46x X 1919 38 | 68
Unit : mm
@ s/ ma )
ERB ©HEE: AYE
o MEDR
2 M agm
e AO{PP
© 60677, 608ZZ H|0{ 2 @H 7 HRISE =
@ BEHHZ|: A2 =2
TLB
oA 1010 S ER B TLB
Alg|l=#Hs  Etel  HHEIE Hoid  E




8, PCIC.,LTD
PBC 1000 series
CI2E& HAE General Duty Caster
& QXL Ztt, LA}

ooty & EFE

o 48 O|F7|7| CHKt

RN
\_l_@ | , .
mm mm @
SMEE | umEsgmA0a | HASE | G4F | HFNY  HRE| o SEMY EAAE O | AmeNER B
S BT S BT TLB ER Kg o] W | Bearing D+@ ® @ S LB S LB H
1010- 1010-
25(1" 3.5x20 .
SERB BT | S ERB BT TLB 13 | @25(1") | 13 |606ZZ 3.5x 155 16 | 28 | 52 | 38
1012- 1012- MIRAGE
32(1.25" 35x20 M8 | 14
SERB BT | SERBETTLE (e | 17 932125 13 16062Z 35x 17 | 17 | 33 | 56 | 45
1015- 1015-
38(1.5" 3.5x20
SERB BT | S ERB BT TLB 25 | 238(15") | 17 |608ZZ 3.5x 19 | 19 | 38 | 68 | 53
Unit : mm
@ szgs/Ma D)
ERB OB AUW
o AHEDR
@2 H:Agm
o FOPP
o 60677, 6087Z H|0f2 @8 7 HRISE EE
@ EBN2 A=) £3
ofA) 1010 S ER B BT TLB
MEAZHE B MM MOl AMAY  Ehy




WWW.pcic.co.kr

PBC 1020 SsERIES

CI2E & /HAE General Duty Caster

¢ o

4712l | siuR|2
s EeRola | MAER | oF | HANZ |uAz| oy Tt 0 R B
1¥R | EFs | R e o N 0|
S TLB \Y Kg 7] W | Bearing
F C HOLE | S |TLB| S |TLB| H
1020- | 1020- 1020- PVE T 35 250 23 | 6082z 70x51 | 52x35 | 9 | 25| 25| 50 | 79 | 72
RVB | SVB | SVBTLB | (V) 2" X X
Unit : mm
@ sz /My )
— |
VB — T
o AHE PVC \\-;"-'-"jf ®E H: aAgm
@ [=] s — 2
e 2ofpp @u I HAZE YZ
|
o 22H|0| 3, 60872 ® |@=2x2: orsign =2
oAy 1020 S \Y B TLB
AME2|=Hz EtY HEFIHE H{E  EfY




O, PCIC.,LTD

PBC &7 AE] series

Ball Caster

* SEHA
o+ ZH|0f X7 o2t
o Ui+d 80|

F -
£3 &
\ , |
Q)Y - e ©
] &
!/ ™ , (/"\\
| 14" (AT
. .
=y | =237 F c E T o HOLE H H1 | H2 | 8 ¥8
Kg Kg
5/8" 485 40 32 1 2-@4 205 | 16 | 14 | 006kg 100kg
=
o 1" 705 56 51 17 | 2-@55| 31 | 235 | 18 | 02kg  200kg
A
51 A 85 70 62 | 17 | 2-87 | 39 | 30 | 22 | 05kg 300kg
Yo" 76x76 62x62| 76 | 21 | 4-87 | 46 | 35 | 25 | 08kg | 350kg

Unit : mm

®




WWW.pcic.co.kr

PBC 2000 series

A58 7|AH Light Duty Caster

= = A= = PLATE S8 | HAH|
2N R 8% s CIESEEE (V= HHFE = StE (HIFEAZE HRE H'”O'I‘Eo'l Az | =of
S BK @@ Kg [} W | Bearing F € HOLE| o H
POLYURETHANE
PU) 35
2020 2020 2020 MIRAGE (R 3 250
R} ) . 20 - | 52x32 | 40x20 | @56 19 | 65
R @@ S @@ S @@ BK | Soft Rubber (SR) 2"
M) 3
Plastic (PP) 35
2030-
- - MIRAGE (ER a75(3" - 23
S ER (ER) 45 (3" 20
Unit : mm

@ szg/MaE D)

PU ER SR ~m
o AIES27Et o AEIHR e Soft Rubber A BT}
e F0|PP e 30{PP e FO|LIO|= i
HIR| =2 %bx
o oim wxgrts (4) wEsE
24 &4 AH 1 OfA(zn) or AE(NES
(BEM)ESD

ojA) 2020 S PU BK
AlB|=HS  EFQ HIEFME Ered




8O, PCIC.,LTD

PBC 2000 series

4558 7HAHE Light Duty Caster

o A2H 77 L ozt
o A8 MUY 7T % 2877
0277 2 B

SH 2E |z =2Es=doa  HFSE | GF  HANY HIHE oY =S N ii; Eﬁ:
S BT S BT BK @@ Kg 2 W [Bearing| (g q ® ® | o | H
POLYURETHANE 35 9+16 M6 x 1.0 P 17
(PU)
MIRAGE (ER 35 0+24.5 M8 x 1.25P 15.5
2020- 2020- (ER) 050 | o ’ " e I
S@@BT  S@@BTBK SoftRubber (SR) | .. (2 516 "
(X‘"E%) + M12 x1.75P 18.7
Plastic (PP) 35 4+32 34" x 164t | 14
2030-
45 9+16 | 15"y 124F| 17
S @@ BT 75 Gk
2030. MIRAGE (ER) 31 20 - 23 | 89
45 2.5+36 )
s @@ PIN + 2 10.8 o 18
Unit : mm

@ szgs/MaE D)

PU ER SR ~El
o AF=2pEl RPN E=ni=1 o Soft Rubber A ElTT}
e TO{PP e FO|PP e TojL{o|2 ==
o Ti WX EINS UTER EE
(Z= M)ESD : Of(zn) or AE(cNEF

olA) 2020 S PU BT BK

AME|=#Hz EtY  HIFTHE  ARAY ERY




WWW.pcic.co.kr

PBC 2100 striss

Ct2 8 7|AE General Duty Caster

L 2BK 2B 4

> JE oy
I ou
oA oA mo

-
==

T

Z o Ho
None
4 2 4

@ [ 1
.
. e . = PLATE 4 | HA
e sms | SEEHOE | uASE 55 | HTANE uAE| soy e | ol
S BK @@ Kg @ W Bearing F C HOLE o i
POLYURETHANE R-
45 -
2120 2120 2120 ) 50 67x40
25 54x24 65 20 | 65
R @@ S@E@ | S@@ BK " ..
PVC (V) 30 - | et
Unit : mm
@ szzs/MaE D)
PU R v B EE - @|ossn: 2w
o AFE S g ° AHSPVC e AlEIR - o8 . ogw
o Fol s ° ZoiPp © Fofpp @ HRER M
@ EBN2|: ofozn) =2
PU ER
oA) 2120 S PU BK
A=z EY HF | XY &= Et




8. PCIC.,LTD

PBC 2200 series

FHA7]1 7|18 7HAE| Business Machinc Caster

* o0
A
>
N
N
nx
=
E
>t
2

o]
= M | "X
R R S| S o™ =eol2 HEER o3 | BHEHEZ eais) o PLATE 7z io1lI
e = S BK HDP Kg 1] W | Bearing F € HOLE © nH
Heavy Duty Plastic "
- 2220- S HDP - (HDP) 90 a50(2") 43 - 95x70 | 75x44.5| M6x8 22 70

Heavy Duty Plastic
(HDPB)
Heavy Duty Plastic
(HDPB)

- 2240-S MCB BK | MC.Nylon (MCB) | 450

- 2230-S HDPB BK 300 | @75 (3") | 48 |6002ZZ| 105x82 | 85x60 | M8x10.5| 33 | 102

B 2240-S HDPB BK 400

2101 (4")| 48 |6003ZZ| 105x82| 85x60 | M8x10.5| 33 | 129

Unit : mm
PBC 2200-1 series
. __— e i =3 : £
o
i ’ {-G\H.QLE o b= =1
: | Le
5 ' o |
5 = i = PLATE S8 A
o R 3|™ s 2|d 2jo|2 HSF stz | HIEIAZ e E H1|01.Eo' Ha| | =of
S BK HDP Kg %] W Bearing E C HOLE o Y
2230-1 Heavy Duty Plastic
- - 7 " 277
S HDPB BK (HDPB) 250 | @76 (3") | 46 |600 105x80| 85x60 | @9 21 | 103
2240-1 Heavy Duty Plastic
- - 102 (4" 277
S HDPB BK (HDPB) 300 | 2102 (4") | 46 |600 105x80 | 85x60 | @9 27 | 130
Unit : mm
@ sRzs/ M2 )
—— |
HDP HDPB ~
o AtE St E o Az SEtE

[>
um | pm
MrE | TH

e 28 H{& 600222

L HAISE g

: Ot(zn) or AE(NEF

"
HDPB 4 HDPB

ol Al 2220
2200-1 S HDP B BK

Algl=#Hs= Etel HIFIZHE  HO™Y  ErY

©



WWW.pcic.co.kr

PBC 2500 series

A58 7|AH Light Duty Caster

* Y2 U7, 92|17 W
i ) o S WU, oY Thy
o Molg ooty

7
0
o
/]

[—— =
HIFER sz | HFINZ | uRE | Hoy PLATE fﬁ; E?:
@@ Kg @ W Bearing F C HOLE | o nH
POLYURETHANE
~U) 60
2525- 2525- 2525- 30
>23 °2> >25 MIRAGE ER) | 40 | 263 - | 70x60 53x42 | 0 85| 24 | 86
R @@ S @@ S @@ BK PVC (V) 59 | (257
Plastic (PP) 55 27
Unit : mm
[ — RELN M,
o | @ N (T
IEENGIYE S S e )
mm mm o
S 2E | M 2E =02 wwzz | o5 | HHNY | gH=E | o 2B NE fﬁ; Efj:
S BT S BT BK @@ Kg 2 W | Bearing | g, ® ® | o | u
POLYURETHANE
0 60
- - 30
2525 2525 MIRAGE (ER) 40 66% i 56419 | 1"y 12Ab 17 | 24 | 844
S @@ BT S @@ BT BK PV V) 5o | @5
Plastic (PP) 55 27
Unit : mm
@ szg/MaE D)
— ]
PU v PP py=r
o AEeE o Ak PVC o A= Botag ~gm
e 3O L}O|E2 e F0f PP CHERIESR X
Ot @Ezn) ==
ER
o AMEIR -~
e IO PP Q
PU PP ER
Ofl Al) 2525 S PU BK
AME|=Hz EtY  HIFTE Eted
2525 S PU BT BK
MEZHE B HRIME  AMAY ERY




O PcIC.,LTD

PBC 2500-1 series

4558 7|AH Light Duty Caster

o Y= 2UtT, 92V 7| TIELY
o wopY T, oW Tty
o MAB 2T
E
o O \ o
-] [ " ] !
. P
—— s
=4 | HH
o £ s PLATE
28 R 87 s gl’SSE;:iOIE HFZ)I;% olis HF 2 HF\TJ% Bﬂiloii%' AHa| | =o]
9 2 caung F C HOLE| o H
POLYL(JSS;HANE 62877
2525-1 2525-1 2525-1 @63
60 25 70x60 55x42 28 26 83
-RO@@ -S @@ -S @@ BK (2.5
POLYURETHANE i
(PU)
Unit : mm

=Rk
i B I O] |

mm mm
2 Ml q
s 2E | gW 2E=R02 | wEZE | o5 | 4ANZ  HEE| Hof BE A ol B
S BT S BT BK Q@ Kg 2 U BRI | @) ® @ o ZH
POLYURETHANE
° L(’PUB) 62877 | 6+ 15 | 15" y 124t
2525-1 2525-1 263
60 26 17 | 26 | 81
"S@@BT " @@ BT BK POLYURETHANE (25
(pu) - 6 + 20 M12 x 1.75P
Unit : mm
=
@ szg/Ma D)
m— ]
PUB PU =
o A= oyt o AEE ~eint
o Aopp ° o0 Lol HIRISRE B
o 12 H01& 62877 L ofolEn)E 2
PUB PU

oA 2525-1 S PU B BK
AME|=Hz EtY HIERAME HO™  EpY
2525-1 S PU B BT BK

ME|ZHz Bt HIRITHE HIOE ARAY ERY

@



WWW.pcic.co.kr

PBC 2625 series

A58 7|AH Light Duty Caster

o HEE 2T
¢ 977|7] REHF
o SugA RET
£
EQWE © ° jﬁ
o |0 0| / =
o Q 4
W [e)
o = == a1 = PLATE =M | ZTEXERR | HH
M R 3% s 3| Eeyo|2 HREF 515 | HHRIHZ 6t H1I01.%'>' Hal ol
S TLB ER Kg [} W | Bearing F C HOLE o S TLB H
2625- 2625- 2625- MIRAGE 263 80 60.5 10.7
65 28 | 6001Z
R ERB S ERB S ERB TLB (ERB) (2.5") x58| x40 | x82 32| 63 193 %2
Unit : mm

@ szzs/MaE D)

ERB eSSk

o NRIIZ D AR

o AOL}YE L HRIER BE

o 124|013 60012 of(zn) =2
oAy 2625 S ER B TLB

A== B HEHER  HIOE EY




8O, PCIC.,LTD

PBC 2625 series

4558 7HAH Light Duty Caster

o HEE 22U
¢ 2=7|7| 2t
o SRTA 2

@,
[
W mm
sMEE | BEEHIOZ | umEE | 65 HNZ uaE s MY ga | HmensRe )
S BT S BT TLB ER Kg (4] W | Bearing D+® ® ® o S TLB .
2625- 2625- MIRAGE 263 M12
28 | 60017  4+25 2 2
S ERB BT | S ERB BTTLB  (RB) | °° (57 x175p | 7 3263 9309
S EES |2ES HH0|Z | wAsE | 45 uANE| uwz| ol EME kel Bl B
S BTH S BTH TLB ER Kg I} W | Bearing ® o s LB “H
2625- 2625- MIRAGE 263
6001Z
S ERB BTH SERBBTHTLE  (RB) | O (257 ° 210.2 (M10) 32163193 | 92
Unit : mm
@ szzs/Ma )
m— ]
ERB
e NRIF

o FojLpes

o 1=H|0{E 6001Z

— BT

- o) 2625 S ER

TLB — il MElz=Hs Bty HHR WE
B 2625 S ER

MElz=Hz Bt HE WE

BT TLB (M12)

B
oy el EY  2uEE
B
0

ER




WWW.pcic.co.kr

PBC 2700 series

A58 7| AH Light Duty Caster

* 2[27|7

» 28 7te
H

s BTE 2

-

__I.L

[

(@]
/|| {31 -
P
N
| E o]
e 5 R = PLATE =4 s|nerx2 RR | WA
% R 3% s o/ HEYO|R | HREE | &5 |HFAHE bR E H1|01.Eo' 43 <ol
S TLB HPU Kg ] W | Bearing F C HOLE o S TLB H
2725- 2725- 2725- 30 063.5 60877 26.5 583 89.36/| 91
R HPUB S HPUB | S HPUB TLB (2.5" ’ ’ ’
o 76 70 53 o
2730- 2730- 2730- URETHANE (4] x 8.2
RHPUB | S HPUB | S HPUB TLB 35 an 23.5  6087Z P 27 65 | 88.44 /108
HPUB
(HPUE) 8.2
2740- 2740- 2740- 40 298 60827 27 76 | 97.79 127
R HPUB S HPUB | S HPUB TLB 4" ’
Unit: mm
C sz /ME D)
HPUB N
o TEHN 23E Aglgt
e 30fpP HIRIER &x
o 228012 6082Z OF S (zn) £ 2

TLB

oflAl) 2725 S HPU B TLB
AE|=Hz  ErY  HHETHE HoE B




O PcIC.,LTD

PBC 2700 series

4558 7HAH Light Duty Caster

= @
NEZAae:
N, \_‘_G) I |
mm mm
SMEBE | ddgsg=dda | uRSR | oF | HENZ S| Ho Sk ii‘; =l R Ej:
S BT S BT TLB HPU Kg @ W Bearing| 5.0 | g @ o . B “H
272>- 2725 30 | 2933 60827 265 58 8936 95
S HPUB BT | S HPUB BT TLB 25" : :
POLY
2730- 2730- URETHANE a76 25
S HPUB BT | S HPUB BT TLB 35 o 235 e08zz| - M2 19 | 27 65 8844 102
(HPUB)
2740- 2740- 40 098 608722 27 |76 | 97.79 124
S HPUB BT | S HPUB BT TLB ") :
Unit : mm
C ssE=2/ME D
HPUB @ [ossm 2=
o nEE 2B 2 @2 A 2ag@
o 20 pp &C@ @ 7 HAER &=
o 22H|0{2 60822 = ® | @ =mwxe otdEnzE
s
TLB
GlAl) 2725 S HPU B BT TLB
HPU Ag|=HE  EFQ HEFTHE B ARIARQF =3

®



WWW.pcic.co.kr

PBC 3030 sEriEsS

4558 |AH Light Duty Caster

¢ 4UE MUY 2ET
* dyg 2up
o HoEol T ! £ TIEE
F
-6\LIQI.L © L\
0]:0 Ol w T
& & 2.
L ¢ | 5
> sl= | HFREZ = PLATE =4 A
IHR 8 3™ Hgo|2 e stz | HIRAHE | o= H1I01V%' S 20
S BK Kg a W Bearing E C HOLE o H
POLYURETHANE
(PUB) 100 6202727
POLYURETHANE
U)3| A 75 ) S-
PVC(VB) 70 620277 | 95x64
MIRAGE(ERB) 70 620277
3030- | 3030- 3030- | <ot RUBBERGR) o75 | 32 - 723 | @125 | L o
R @@ S @@ S @@ BK SOFT RUBBER 55 (3") R- x 44.5 x 8.5
(SRB) 620277
96x70
Nylon (NYL) 110 -
Plastic (LDP) 100 -
MC.Nylon (MC) 110 -
MCNylon (MCB) | 110 35 | 60002z Unit|: mm
@ w3 zs/ = Dg
m— |
PUB PURIMZH 2g
o AE y|EH ° A= -?-EﬂE,_P ° A}g PVC AElm}
® FO{PP ® TO{PP ® T OPP S HIEREE A=
o 1=H|0{2 620227 o 1= H o2 620277 - 0} (zn) or AE(CR)EZ
ERB SR SRB PUB ERB L
o A=12 ® SOFT RUBBER ® SOFT RUBBER i
o o{PP e 30| Ljo|= o 128)0]2 620277

o 1=H0 g 620227

NYL

® A= Lol B

MCB
® MC Ljo|z2

o CHRYX| EIHS(ZEMESD (B)

MC

® MCLjo|=

o 2=H|0{& 6000ZZ

LDP

o AE Batag

ol A1)

3030

A2z

Et e

SRB NYL MCB MC

PU
7] )

B BK

Hl o=

Bt




8O, PCIC.,LTD

PBC 3030 SsERiEsS

4552 7|AH Light Duty Caster

o 2 UG 287
* By 2y
o WBEo| TA X 2WIES

e

mm @
3H 2E 3|H 2E =a0|2 - sE |(HANE gHE | wojd E2E MY e |
H#EF . R =0|
S BT S BT BK Kg (%] W Bearing D+® ©) @ o H
POLYURETHANE
(PUB) 100 620222 M10 X 1.5P
POLYURETHANE
(PU)3| A4 75 ) 8+27 [ M12 X 1.75P
PVC(VB) 70 620277 M6 X 2.0p
MIRAGE(ERB) 70 620277
3030- 3030- SOFT RUBBER(SR) 675 | 32 - 2171 34 | 99
S @ BT S @@ BT BK SOFT RUBBER 55 (3" 5425 | V2" x 124
620272
(SRB)
Nonn (NYL) 110 - 3/ " b
8" X 1641
Plastic (LDP) 100 -
+
MC.Nylon (MC) 110 - 8+27 Sy
8" X 114
MC.Nylon (MCB) 110 35 600027
Unit : mm
N
@ sz /My )
— |
PUB PU(Z|MEAD VB = NEEEEES
© AtE e o AHE R E ® ARE PVC — =2 H.2A2gm
© molPP o molee © mowrr {. @ |os #umsmaz
o 1EH|0{3 6202ZZ o 12 H|of2 620277 = @ BHANZ -0}%(zn) or AE(CR)EZ
ERB SR SRB PuB ERB SR
o Al=ETE @ SOFT RUBBER @ SOFT RUBBER /
® 3O0|PP e Tof L}o|= o 1=2H|0|2 620227
o 1EH0{Y 620222 o CEWX| TIHS(ZEEMESD (B)
SRB NYL MCB MC
NYL MCB MC LDP e ° .
® A= LIo|IE ® MC Ljo|2 ® MC Ljo|2 ® A= ZEtAE

o 2=H|0{& 6000ZZ

BT —
S

T oA) 3030 S  PU BT BK

B
BK%B NEzws EFYl HPH WE Mol AUAY  Er
ER




WWW.pcic.co.kr

PBC 3040 series

4558 7|AHE Light Duty Caster

¢ 4T AHE 2HF
* Z4HE 284
¢ et Mo| M S AYIER
F
= N
o[-C?\LIQ-E Q| wul T
& P 2]
‘4_| o
N = = E P
25 R gms |SREEHOR)  wRAZE | AT | HERNE uaz | ol PLAILE | e
S BK @@ Kg %] W Bearing F C HOLE 0 H
POLYURETHANE
(PUB) 105 620277
POLYURETHANE
(PU)2|Y 80 ) >
PVC(VB) 75 62022z | >4
MIRAGE(ERB) 80 32 | 620277
3040' 3040' 3040' SOFT RUBBER(SR) Q1 OO _ 723 z1 25 36 127
R @@ S @@ S @@ BK | sofT RUBBER 70 4" 620277 R x 445 | x85
(SR8) 96x70
MC.Nylon (MC) -
4 115
MC.Nylon (MCB) 35 | 6000ZZ
Plastic (LDP 100 -
astic (LDP) 37
Nylon (NYL) 115 -
Unit : mm
@ srzgs/MaE )
— ]
PUB PU(Z| M 4) — EE R I
o A= & o AtE REE L A|'E PVC n7 @2 N AED
e JoPp © Fofpp © =0PP e @ #:HATE BE
o 1%5"01%' 620277 o ]_%H-"O-IEC-J 620277 @ EHAZ| :0fH(zn) or AZ(CR)EZ
ERB SR SRB
CEPN ==, o SOFT RUBBER o SOFT RUBBER
e [0IPP e 30| Ljo|2 e 12H|0j2l 620277
o 12|02 620222 o CHEX|ZIHS(HFEMESD (§)
NYL MCB MC LDP
o AFELOIE e MCL}O|2 o MCL}O|2 o A =ZEEtAE] SRE Mc
® 22H|0{2 6000ZZ
clAl) 3040 S PU B BK
AE|=ZHE Et IR Ho{d  ERY




8. PCIC.,LTD
PBC 3040 stries
4552 |AHE Light Duty Caster
o 4T MAE 2T
& HEE 2t
i ¢ Hiaido| XDy Sl AYIER
1 N !( @ r[]n
o | @ '\ .
L @, | m
2.~
w mm mm L o |
3d 2E sM 2E =302 HRE2 st | HHEE | uR=E | yoj EE MY 7%1;1; Ej:
S BT S BT BK @@ Kg I} W | Bearing | @+@ ® @ o) nH
POLYURETHANE
(PUB) 105 620277
POLYURETHANE 80 M10 x 1.5P
(PU)3| M ) 5
PVC(VB) 75 6202772 8+27 M12 x 1.75P
MIRAGE(ERB) 80 32 | 620222 V6 x 20p
X 2.
3040- 3040- SOFT RUBBER(SR) 2100 - 217 36 123
S BT S BT BK 70 4" '
ee ee SOFT(SF;‘;BBER (4% 6202ZZ | 5+25 | V2" x 124t
MC.Nylon (MC) - "
115 3/8" x 164t
MC.Nylon (MCB) 35 | 6000ZZ 8427
Plastic (LDP) 100 37 - 58" x 114
Nylon (NYL) 115 -
Unit : mm
@ srzs/MaE D)
m— ]
PUB PU(iL*—'.'E—‘g) Ve s @foszm. 22
o A= R E o AtE RoE ® AbE PVC — @2 H.Agm
e A O{PP e FIAOPP e AO{PP i @ ®H A HERER XX
o 1EH|0{2 6202272 o 1=2H & 620277 @ EHN2| 0} (zn) or AE(CR)ES
PUB ERB SR
ERB SR SRB
PWNE=—Ini=! e SOFT RUBBER e SOFT RUBBER @
e F0{PP e 30| Lto|= o 1=H|0|2 620277
o 1240 & 620277 o CHEEX|E 7S (HYM)ESD @
NYL MCB MC LDP e ° .
o AMELIOIE e MCL}o|&2 e MCLto| 2 o AEEetAE SR me me
® 2=H|0{2 6000ZZ
BT —4
: ’ﬁ?. -3 alA) 3040 S PU B BT BK
BK — B MEl=Hs  EMY  HER THE HioE O ARIAIY ERY

ER




WWW.pcic.co.kr

PBC 3050 series

458 7HAH Light Duty Caster

¢ 4T L8 2ut
* By 297
* W3i¥o| MY Y aWIES
F
_ESKI:IQLE e L\
U]:O O uw T
P P 2
I—IC o)
& = _— 174 = PLATE ER Rk
el SF s CIFSEEE [ ET HHRS R stz |HIRIAZ | iR = H1I01.%' S || e
S BK @@ Kg %] W Bearing F @ HOLE o H
POLYURETHANE
eUB) 115 620277
POLYURETHANE
(PU)Z| A % . s_
PVC (VB) 80 620277
95x64
MIRAGE (ERB) 90 32 620277
SOFT RUBBER(SR -
3050- 3050- 3050- P01 g | 8125 723 | o125
SOFT RUBBER i 20277 R — 39 | 155
R @@ S @@ S @@ BK (SRB) (5" 6 x 445 | x85
MC.Nylon (MC) | 120 - 96x70
MCNylon (MCB) | 120 35 6000ZZ
Plastic(LDP) 110 -
37
Nylon(NYL) 120 -
Unit : mm
x
@ sRrzs/MaE )
— |
PUB PUGRIMZY) VB N e
o A= R E o AtE 2ot ® A= PVC @2 N Agm
e To{PP ® 30{PP e 0oipP @ 7 HABE EZ
e 1=2H|0{2 620277 o 1=2H|0{& 620227
@ EHMANZ| : OtA(zn) or AE(CRI=F
ERB SR SRB sr SR8
o A= 1B o SOFT RUBBER e SOFT RUBBER
e FO|PP e AO|L}O|E o 12H|0{Y 620277

o 1=H|0{& 620227

NYL

° AE HO|E

MCB
o MC Lto|2
® 2=2H|0{ 2 6000ZZ

o CHHYXEIS(

MC

o MC Loz

ol AD

AnM

LDP

o A

EL

)ESD (§)

3050

AlB|=HS

AEl

S

Bt

©
¢

PU
HER XHE

ERB
MCB

LDP

MC

B BK
ol et

@




8O, PCIC.,LTD

PBC 3050 series

4558 7|AH Light Duty Caster

¢ 4T MUYE 2t
* ZYg 2otp
o @3p¥o| M| W AWIIES
@ il
2 @R
L] @f, | . B
mm mm @ o |
3H BE 3™ 2E =go|3 B S F st= | HIREZE | b= | woja =2E At 7%-:';1; Eﬁ:
S BT S BT BK @@ Kg I} W Bearing | @®+@ ® @ o nH
POLYURETHANE
PUE) 115 620277
POLYURETHANE M10 x 1.5P
(PU)Z| A 95 ) *
PVC (VB) 80 620277 | 8+27 |\ 15 1 75p
MIRAGE(ERB) 90 32 620277
M16 x 2.0P
3050- 3050- SOFT RUBBER(SR) Z1 25 -
80 21.7 | 39 | 151
S @@ BT S @@ BT BK | SOFT RUBBER(SRB) (5" 620277
5+25 | V2" x 124t
MC.Nylon (MC) 120 -
MC.Nylon (MCB) 120 35 600027 3/8" x 164
Plastic (LDP) 110 - 8+27
37 5/."
Nylon (NYL) 120 - /8" x 114
Unit : mm
@ srzzs/Ma D)
— |
PUB PU(Z| A2 Al VB
o AHE 2g|E o AtE 2gEt e AtE PVC
o FO{PP e TO{PP e FO{PP
o 1=2H|0|2 620227 e 1E=H|0{2 620272
ERB SR SRB
o A= 12 e SOFT RUBBER @ SOFT RUBBER - .
e TOIPP e Ao|Lio|E o 1240/ 620277
o 12H/0|ZY 620277 o CiEwxiEts @FMEsD (&) e e Lo
NYL MCB MC LDP 6 ’ . .
® AHE LIO|E e MC LtO| & e MCLo|E o AME E2taE
® 22402l 6000ZZ
alA) 3050 S PU B BT BK
Al2|=H= EFQY HER THE HIo{E ARIAF  EFY




WWW.pcic.co.kr

PBC 3100 series

L Al2 FHAE] Stainless Steel caster

o AMEE 2T
¢ oE7|7| et
¢ StugAl 28
'S C
&) L\
[o\m o . -
- ) P e
w e
k=1 =2 3l= E=3 =l A
X R s s 2™ 20|12 HRE R/ 55 |HIFIAE | v = H1|01_Eo' PLATE Hal | =o|
S BK @@ Kg (7] w Bearing F C HOLE o "
3125-R @@ | 3125-S @@ | 3125-S@@BK | POLYURETHANE(PU) | 50 |@63(2.5") 25 - 70x60 | 55x425| @ 8 26 @ 83
POLYURETHANE(PU) 75 -
POLYURETHANE
(PUB) 100 620277 . R—6 ; 1OR-12
3130- 3130- 3130- Nylon(NYL) 110 | @76 | 32 - X 724 X 24 | 101
POLYURETHANE "
R @@ S @@ S @@ BK (HPUB) 80 (3 ) 6000ZZ S x 44.5 S-
MC.Nylon(MC) 110 - 95x64 12.4x8.5
MC.Nylon(MCB) 35 6000ZZ
POLYURETHANE(PU) 85 32 -
POLYURETHANE
(PUB) 105 32 | 62022z R- R-
3140- 3140- 3140- Nylon(NYL) 115 | 101 | 32 S| XBE g5, | 102 36 | 127
POLYURETHANE "
R @@ S @@ S @@ BK (HPUB) 95 (4 ) 30 6000ZZ S- X 44.5 S-
MC.Nylon(MC) 115 32 - 95x64 12.4x8.5
MC.Nylon(MCB) 35 | 6000Z2Z
POLYURETHANE(PU) 95 32 -
POLYURETHANE
(PUE) 115 32 | 62022z R- R-
3150- 3150- 3150- NylonNYL) | 120 | g1p5 | 32 | - | 966 1 o, 10x12 2 | 151
R @@ S @@ S @@ BK POLY(E'EE;'ANE 1‘]0 (5") 30 6000ZZ - x 44.5 5.
MC.Nylon(MC) 120 32 - 95x64 12.4x8.5
MC.Nylon(MCB) 35 6000ZZ
Unit : mm
@ srzz/ME D)
—— ]
PU PUB NYL PEEE I eSS,
o A= 22 o AE PoE o AE LIO|E @2 5. ~golaAm
e 30{pp o 3ofpp @H 3 HRSE E=x
® 620277 @ HEHAZ| : Mot
HPUB MCB MC
o IEHY et e MC Lto|2 e MC Lo|2
o TOjLIO|2 o 2EH|01¥ 600022 . 3
o 2&|0{2 600022 PU 3 5
Ol Al) 3130 S PU B BK
I Yk EFQ! HIFTE HOH Et

(20)




8. PCIC.,LTD

PBC 3100 series

L2 A2 FHAE] Stainless Steel caster

o Mg 28t
¢ QE7|7| 2Et
o BtIFA 24t
® 1L,
B O
b &
8.1
W mm mm
sH2E | sEEs =03 | gwEm S5 |HHNZE uRE | Holy EEAY ol i
S BT S BT BK @@ Kg 2] W | Bearing | 3,3 ® ©) o e
3125-S @@ BT | 3125-S@@ BT BK | POLYURETHANE(PU) 50 |@63(2.5"| 25 - 6+15 | Yo"y 124+ 17 26 81
POLYURETHANE(PU) 75 _
POLYURETHANE
PUB) 100 620277
3130- 3130- Nylon(NYL) 110 a76 32 -
POLYURETHANE " 22 34 98
S @@ BT S @@ BT BK HPUE) 80 (3" 600027
MC.Nylon(MC) _
110
MC.Nylon(MCB) 35 | 6000ZZ
POLYURETHANE(PU) 85 32 -
POLYURETHANE
(PUB) 105 32 | 62027z
3140- 3140- Nylon(NYL) 115 | 101 | 32 -
POLYURETHANE " 8+28 " 22 36 | 124
S @@ BT S @@ BT BK HPUE) 95 (CG) 30 600077 5/8" x 114
MC.Nylon(MC) 32 -
115
MC.Nylon(MCB) 35 | 6000ZZ
POLYURETHANE(PU) 95 32 -
POLYURETHANE
PUB) 115 32 | 620277
3150- 3150- Nylon(NYL) 120 | g125 | 32 -
POLYURETHANE " 22 39 | 148
S @@ BT S @@ BT BK B, 110 (5" 30 | 6000ZZ
MC.Nylon(MC) 32 -
120
MC.Nylon(MCB) 35 | 6000ZZ
Unit : mm
@ szz/Ma D)
— ]
PU PUB NYL @ = = o AH QYA
o AFE & o AE et o AE LIO|2 @2 A AHQIHAT
e 30fpp e 0{PP ®@H 7 HAER X
® 620277 @ BEHEK I Mot
HPUB MCB MC
o NEHY 2 E o MC L}O|Z e MC Lo|2
e TOJLIO|E o 22H|0{Y 600022 )
o 22H|0/& 60002Z 5
Ol A]) 3130 S PU B BT BK

AEl=HE  Epel BRI MOl AWAMY Ety

@



WWW.pcic.co.kr

PBC 3101 series

L2 Al2 FHAE] Stainless Steel caster

o NEg eotq
¢ o= 7|7| 2Bt
o BIFA 287
. RR
- —
O
{?\HQLE O w A
@ @
c [o ]
s = st=  HpREg | O PLATE S simuixig R | OA
2R sim g | BREEHOI | HAZE  oF HHNZ| T Hold | ol
S TLB @@ Kg %] W Bearing F C HOLE | o S TLB H
3121-R @@ | 3121-S @@ | 3121-S @@ TLB| MIRAGE (ERB) 50 | 850(2") | 22 | 6000ZZ | 54x44| 40x30 @6 23 | 47.5 67 | 70
POLYURETHANE
PU) 75 -
POLYEJPRL:E;)HANE 100 620077
3131- 3131- 3131- 76 95 72.3 12.8
Nylon (NYL) | 110| @7 35 - 49| 83 1065 113
R @@ S@@ S @@ TLB POLYURETHANE 80 3" 600022 | X 70 | x 445 x 9
(HPUB)
MC.Nylon (MC) B}
yen 110
MC.Nylon(MCB) 600022
POLYURETHANE
PU) 85 -
POLYL(JPRL;E;')HANE 105 620077
3141- 3141- 3141- 101 95 72.3 12.8
Nylon (NYL) 115| @ 35 - 48 | 99 106 | 137
R @@ S @@ S @@ TLB POLYURETHANE | o 4" 6000 x 70 | x 44.5 X9
(HPUB) 5 2z
MC.Nylon(MC -
on&) | 445
MC.Nylon(MCB) 6000ZZ
POLYURETHANE
®U) 95 -
POLYtJPIRLjE;')HANE 115 620077
151- 151- 151- . .
315 315 315 Nylon(NYL) 1120 | @125 | 55 | - 9 1 723 1128 1 o 1095 | 1095|164
R@@ S@@ S @@ TLB POLYURETHANE 110 (5" 60002z | % 70 | x 445 x 9
(HPUB)
MC.Nylon(MC -
YonMO 1459
MC.Nylon(MCB) 6000Z2Z
Unit : mm
=
@ szzs/MaE )
m— ]

PU PUB
o AtE 2 o AtERR
® 30{PP e FO{PP

® 6000zZ
HPUB MCB
o LEHY & e MC L}o|2

e FAojLIo|E2

e 2E=H|0{g 6000ZZ

TLB

® 22H|0{ 2l 600027

NYL

® AbE LIOIE

MC

° MC Lto]2

Gil A

Al

3131

g =z

>

o A QY AE

o AH QI AT
x|

CHRER AE

: BUFF(H{ )
S PU B TLB
Et HEF ZHE  HIO{Y Bt

(28)




O PcCIC.,LTD

PBC 3101 seriss

L5 A2 FHAE] Stainless Steel caster

o MTg 243
¢ QE27|7| Yt @@
o Stugs 27 RR
__ - -
® .
mm mm | @® | Q
SMEBE W BE GEOZ|  wAZE | &5 HEB|uwz| oy ZENY il Il
S BT S BT TLB @@ Kg g | W |Bearing| ©+@) ® @] ® | o] s | 18|
3121-S @@ BT | 3121- S @@ BT TLB| MIRAGE (ERB) 50 | &50(2")| 22 |6000ZZ| 7+25 M10 x 1.5P 14 - 23 | 475 67 68
POLYURETHANE
R 75 -
POLYURETHANE
3131- 3131- (PUB) 100 - 620222 5/8"x 114t
S@@BT  S@@BTTLE | "WonhNvb | 110 o 35— 49| 83 |1065 113
GENED (M E AL PR e e 80 39 600022
MC.Nylon(MC) 110 - 15" AF
MC.Nylon(MCB) 600022 2 x 128
POLYURETHANE
R 85 -
POLYURETHANE
3141- 3141- (PUB) 105 o1 620222 o5 | MI6x20P o125
S@@BT | S@@BTTLB | "on®Wb | 115 4| 35— > 22| (11 48| 99 | 106 137
e T N R I I
MC.Nylon(MC) _
115 M12 x 1.75P
MC.Nylon(MCB) 6000ZZ
POLYURETHANE
el 95 -
POLYURETHANE
3151- 3151- (PUB) 115 o7 620277
S @@ BT S @@ BT TLB Nylon(NYD) | 120 oy |31 45 11095 | 1095 | 164
EAg) | @ | PR 0] B0 1 Jeezz) ] (tiAf
MC.Nylon(MC) _
120
MC.Nylon(MCB) 6000ZZ
Unit : mm
@ szz/MaE D)
— |
PU PUB NYL EEIECTEE
o AtE 2 o AHERR o AbE LIO|E 2 M AH QI AR
e RO{PP © 30fPP B 7 HIRIER ®x
© 60002z EOIX 2| : BUFF(H{ )
HPUB MCB MC
o DEHY REL e MC LjO|2 ° MC Lto|2
e IAOLIOIE o 2=H| 02 6000ZZ
e 284 0{2 6000ZZ
—— BT
TLB —. == S
il Al 3131 S PU B BT TLB (5/8")
B AMEl=Hs  ErY HER ZHE Hlojd  ERY E-Y AH
PU

(29)



WWW.pcic.co.kr

PBC 31251 series

L Al2 FHAE] Stainless Steel caster

o ATg 2uR
¢ 2|E7|7| et
o Stugs 2
E
-G\I:ISILI: © ° i
[S e O w q E=
o @
I—C—I (8]
. = | = = PLATE S | UHUXERR | FA
IR S8 s 3™ :H*EEHOEL I ES=1 olig HEREE [HHEE | woja e o)
e ee 9 2 e F C HOLE | © s | T | H
POLYURETHANE
o0 60 -
30
MIRAGE >
(ER) 50 - 75x52 32
31251 31251 31251 263 95 | 72x45 | 128 63 | 107 |o4s
R @@ S @@ S @@ TLB (2.5" x 70 X 9 )
MC.Nylon 100 . (74x49) TLB-
(MO 44
37
MC.Nylon
(MCB) 100 608
Unit : mm
@ srzz/MaE D)
PU ER © A 2w Agolan
o ME o ° MELT @8 H: AHQA
© 20{PP e 3ofpP @ 7 HRBE YE
@ TEHANEZ| : BUFF(H{ =)
MCB MC
® MC Lto|2 e MC Lfo|2
° 2=H|013 608
TLB S oar) 31251 S MC TLB
31251 S PU B TLB
AME|=Hs  EFY B ME MO ERY

©




PBC 31251 series

L5 A2 FHAE] Stainless Steel caster

=

PCIC.,LTD

o g 2oy
¢ 2E7|7| et
o ST 2y
-
=5 ¢
SMEE  |oHEEEEYOR  uEzm | 45 HAND uaE so =N x| sEERS ) T
= 712 =0
S BT S BT TLB @e kg | & | W jsearng| o T - o | s s o
POLYURETHANE .
V) 60 - 58"x 1144 s
30 -
31251 31251 M'EQGE 50 | s g | Va'x ot 32
S@@BT | S@@BTTLB (ER) : 22 63 107 94
- N MC.Nylon (2.5" +27
GEWE) (MEfALE) (MO) 100 - M16 x 2.0P TLB-
37
44
M(CM'\éyé)on 100 608 M12 x1.75P
S BES | 2ES 90|  4HEE | &F |HTNZE = soj2 L B | SATURSRR | HH
A 72l 0l
S BTH S BTH TLB @e kKg | @ | W |Bearing 5 o | s | s |
POLYURETHANE
60 -
(PU) % s
MIRAGE 50 ] 2123 2
31251 31251 (ER) 263 63 | 107 | o4
S@@BTH |S@@BTHTLB MCNyon | | (257 ]
MO) . (M12) TLB-
MC.Nylon 100 608 4
(MCB)
Unit : mm
@ szg/Ma D)
PU ER eI TR
= O = =
° ’:EP;E"EJ : jiif @8 A Aooam
=0 = o 7 HAEE 4=
@ HEHXAZ| : BUFF(H =)
MCB MC
® MC L}o|2 o MC Lto|2
° 2=H|0{2 608
olA) 31251 S PU BT H TLB
AM2[=Hs  Ete)  HE TfH Ho & EtYd & Eig
TLB 31251 S MC B BT TLB M16
31251 S PU BT TLB 5/8"
MEZHE  EPY R MR MO ERY ERY A

O,



WWW.pcic.co.kr

PBC 3200 stRries

A58 7| AE Light Duty Caster

" = Y = PLATE g4 | A
2% R sms | BB =02 HREE o5 [HIAHZ HAS| HoY el | ol
2 Bl A2 g 2 Y| i) F @ HOLE | © H
3220- 3220- 3220- @50
52x32 | 40x20
R HPUB SHPUB | S HPUB BK >0 2" 17 | 688 X X @56 | 19 | 65
3225- 3225- 3225- 264
70x60 | 55x42
R HPUB SHPUB | S HPUB BK 60 (2.5 25 | 608 X X @8 | 26| &
3230- 3230- 3230-  POLYURETHANE %0 276 2 R9GXT0 | 11 2l s s aa | 101
R HPUB SHPUB | S HPUB BK 3" S-95x64 | 47 XS
(HPUB)
3240- 3240- 3240- 2100 R-96x70
44.5x72.3/12.5%8.
R HPUB SHPUB | S HPUB BK 110 4" 301600022 | ¢ g5 gy (447231253851 36 | 127
3250- 3250- 3250- 2126 R-96x70
44.5¢72.312.5x8.
R HPUB SHPUB | S HPUB BK 120 (5" 30 s-g5x64 | FHX723/12585) 39 | 152
Unit : mm
@ szzs/MaE D)
HPUB ~aw
o 1EHY L2 E e
e TO|L}OIE HIREE Bx
o 22402 60002Z 1 Ok (zn) or AE(cr) B
o 2=2H|0|2 688 e ’
o 22H/0/2 608 ! @ (
_ o
2!! 2-5“ 3" 4‘! h -5“
Gl A]) 3230 S HPU B BK
AMEZ| =S EMY HIRTHE  H|ofR EtQ




8. PCIC.,LTD

PBC 3200 seRries

4558 7|AH Light Duty Caster

A ZAE T X HE
- = ;
"‘——-—
B o I,
® B <
N
Lol 44 »
u mm mm
2 2E  H@gss=doa ISR | oF | HANZ A= Ho e ol i
S BT S BT BK HPU Kg @ W | Bearing | g, ® @ o “H
3220- 3220- 50 250 17 688 | x Page. 11 (2020 BT SERIESQ} S 19 62
SHPUB BT | S HPUB BT BK " ¥ Page. 11 =9
3225- 3225- 264
1 n
SHPUB BT | S HPUB BT BK 60 25" 25 | 608 | 6+15 3224 17 | 26 | 81
3230- 3230- POLYURETHANE %0 276 3 M10 X 1.5P 24 | o8
SHPUB BT | S HPUB BT BK 3" 8 + 27 | M12X175P
(HPUB)
3240- 3240- 2100 M16 X 2.0P
SHPUB BT | S HPUB BT BK MO gy | 30600022 | 2T %6 1
3250- 3250- 2126 38" X 164t
SHPUB BT | S HPUB BT BK 120 (5" 30 8+ 27 56" x 114k 39| 149
Unit : mm
@ szgs/MaE )
HPUB O®osze: ~g
o DEHY S gy CENETELT
{ | H - HIE|=2 Abx
[ ] _=||_0‘|L|-O|E = @ Ht o HRBF B=x
o 22H|0l2 600027 (3 ||@ 5N Ol (zn) or AE() £
o 2240{2 688 e a4
X KoKk |
b I
2% 2.5" 3" 4" 5"
oA 3230 S HPU B BT BK
MeE|=Hz EFQ HER AHE WO ARAIYF  EFY

®



WWW.pcic.co.kr

PBC 3300 Skries

A58 7|AH Light Duty Caster

¢ 4T MU 2UHA
* Zug ey
o #slRol FYM L £TIES
RR
F
I
O Q
ol:?\uuu: ol J B
) @
I_G_l fo)
2u SiHuR 2
2R | sl | 2013 S0 BEAOR SR o5 | w2 4 Hor PLATE S il o
S BK ee K9 @ o e B - C HOLE | s, BK| TLB | S,BK | TLB | H
3330- | 3330- @ 3330- 3330- | PVC 75
70 32 885 | 35| 35| 725 102 106
R@ S@  S@BK S@TLB | (VB) (3")
3340- | 3340- | 3340- 3340- | PVC 100 95 | 745
75 32 | 6202 85| 35| 35 85 107 131
R@ S@  S@BK S@TLB | (VB) @") x66 | x45 |7
3350- | 3350- | 3350- 3350- | PVC 0125
80 32 085 | 38 | 38 1005 | 113 | 157
R@ S@  S@BK S@TLB | (VB) (5")
Unit : mm
@ szgs/MaE D)
m— |
VB ~gw
o AFEPVC AElm
o 30{PP . HFEE 8
e 6202H|0{2! DOl @En) B2
BK
A
GilAl) 3330 S \/ B TLB
AE|ZHS EtY HFHAE HY EtQ)

@




C 3000 OfA|H} seres

H=THH| 8 FHAE| Scaffold Caster

=

PCIC.,LTD

¢ A= HHIE ZHE 247
F
—A <
Q\I:Q.E ©
0[0 O w I
9 0 Zé; I
W [} Q
PLATE OFAH A | HR
OFA|HF ELjl0|= HR B F stE | HIFAE HERE | Ho Y et 73| _L.-_(j:
OFA|HF BK @@ Kg 2] W | Bearing F c HOLE A | UAH | =H | 2o o ‘:‘H
A B t
3040 SOF;REE;BER 70 100 NYLON 95 723 12.5
- =T o] . @ 12.
OfAlH} BK 4" 32 x64 | x445 xgs | oo | 291511200 34 7027
Plastic (PP) 100 -
SOFT RUBBER 80 NYLON
3050- ) 2125 95 723 | 125
OfAlH} BK (5" 32 X 64 | x445 | x85 32| 29 |15 120) 37 | 154
Plastic (PP) 110 -
Unit : mm
@ wazz/ Mz )
=7 PP OB @ AU
o SOFT RUBBER ° AIE ZgjAE P —
A0{L =
© HOIHOIE @b F: HABR X
@ mHKXZ : otd(zn)=Z
olA)) 3050 OfA|H} BK (2g orPpP)

AME|=Hz Ete  uhR HE

®



WWW.pcic.co.kr

PBC 3331 series

4558 |AHE Light Duty Caster

* g 2uy
o Z4F Mg 2uty
o WBpEol FA U 2 WIER
I
S -
{{fwu o . .
[ Q
[ c | Lo |
HE| QYRS | om | xp
sl= = PLATE S| A
2% R oF s =03 | geyo|a TETES IS 5z IS H1I01_Eo' RR A2l | ol
S BK S TLB Kg - W | Bearing F C HOLE | s, BK | TLB o H
POLYURETHANE
U 100 620277
POLYURETHANE
(PUYBI 75 -
PVC(VB) 70 620277
MIRAGE(ERB) 70 620277
3331- 3331- | SOFT RUBBER(SR) @75 | 32 _
3331- 1 3331- 1 ¢ @@ | S@@ | soffrusBRR | 22 | (3") 95 | " 585 725 102 35 106
R@@ S @@ (SRB) 620222 x 45 T
BK TLB X 66
Nylon (NYL) 110 -
Plastic (LDP) 100 -
MC.Nylon (MC) 110 -
MC.Nylon (MCB) | 110 35 | 6000ZZ
POLYURETHANE(HPUB)  9() 76 33 | 600077
Unit : mm
@ srzs/MaE )
— ]
PUB PURIMZ4) VB ®F s o, Agm
o ME &t o AHE gt o AHE PVC @2 AN.2agE
o FAOPP o 3oipp o AOPP ®H  F: HRASE BZ
o 1ZH013 620277 o 1= Hol& 620277 @ BHEKNZ| : OtA@n) EF
PUB ERB SR SRB
ERB SR SRB HPUB
o AMELR © SOFT RUBBER © SOFT RUBBER o TEHM 3 Et o . . e
o 3oipp o 0] Ljo|2 o 128012 620227 (@ TS

o 121013 620227

NYL

o AE Lol

MCB
® MC LIo|&
o 2EH0{ & 600027

o THEYR BIHsEY

=

MC

® MCLIO|Z

Ofl A1)

JESD

o 2=2H0{ & 600022

LDP

o AlE EEfAE

3331

S

ME|=H= Ejgd

PU
A

HPUB

B
H o &

TLB

Etel




8O, PCIC.,LTD

PBC 3331 series

4558 7|AH Light Duty Caster

* 3Yg 247
* 23 Mg eurn
o WMo MY U £TWIES

SENCON
SEE
® [ ]
W mm mm
N 2 - e _ 2E AQ 2TEXE | A FH|
q |
2':‘ il R = TIE RS B 023 =2 Hril,% Bull? = R 543] | ol
S BT TLB 9 a g ®+® @ @ S, BK | TLB o) H
POLYURETHANE (PUB)| 100 620277
POLYURETHANE
CUEE 73 :
PVC(VB) 70 620277 10+27
MIRAGE(ERB
3331 3331- 3331- (ERE) 70 - 620222 M16 x 2.0P
- so S -
S @@ BT S @@ BT O "UBRCRD | 075 102 104
S @ BT SOFT RUBBER(SRB) (3" 620277
BK TLB 5+25 | 38" x 114t
Nylon (NYL) 110 -
Plastic (LDP) 100
MC.Nyl MC
yon MO | 110 10427
MC.Nylon (MCB) 110 35 | 60002z
POLYURETHANE(HPUB) 90 |e76(3")| 33 | 6000ZZ
S @@ S @@ S @@ ME ISPN NG e
BTH BTH BK BTH TLB < @12 (M12) °°
Unit : mm
@ srzs/MaE )
— |
PUB PURIMEH) VB F—O|o#sw: 2d
o AHE & o AbE g o AFE PVC = ' @8 #2828
o ZAojpp o A0pPpP o ZO{PP @ ®@H 7 HIATF EZ
o 12012 620277 o 12401 620277 ® |@ muH2l:ofH(@zn)
PuB ERB SR SRB
ERB SR SRB HPUB
o AfEDR © SOFT RUBBER ® SOFT RUBBER o NEHY 2| o
o ZOojpp o Y LIO|E o 1EH0{ ¥ 620222 o TojLfo|=
NYL MCB MC LDP

o 12802 620227 o UMYX EIFS(EMESD o 22|02 6000ZZ

NYL MCB MC LDP
o AHELIOIZ o MC L}0o| 2 ® MC LIo|2 o AHE E2tAE
o 22401 600022
BT —!
g __s
w»=— TLB olAl) 3331 ) PU B BT BK
B Ag|lz=Hs  EfY) ME  Ho{E ARAF ERA

PU




WWW.pcic.co.kr

PBC 3341 series

4558 |AHE Light Duty Caster

* g 2uy
o Z4F Mg 2uty
o HgtEo| TNl A 4 HWIEE
E [
o 1
]:j\.m o .
& @
W I—C—I |
= sz | HH = PLATE SHERIE RR| A | B
28 R o s =02 | EEo|2 BB R StE 174 HHR = Hiloi‘% Sl | sop
S BK S TLB @@ Kg . W Bearing F C HOLE | s Bk | T8 o Y
POLYURETHANE
(PUB) 105 620277
POLYURETHANE
(PU)Z| A 80 )
PVC(VB) 75 620277
MIRAGE(ERB) 80 32 | 62022z
3341- 3331-
3341- 3341- s@@ | see SOFT RUBBER(SR) 20 2100 - 95x66 | 74.5 585 85 | 107 35 | 131
SOFT RUBBER " .
620277 x 45
R@@ S @@ BK TLB (<RB) 4"
MC.Nylon (MC -
ylon (MC) 115
MC.Nylon (MCB) 35 | 6000ZZ
Plastic (LDP) 100 -
37
Nylon (NYL) 115 -
POLYURETHANE(HPUB)| 110 30 600027
Unit : mm
@ srzs/MaE )
— ]
PUB PU(Z|ME4) VB
o AbE e o AtE & o AHE PVC
o TO{pP o ZO0PP o FO|pP
o 1ZH013 620277 o 1= H0l3 620277
PUB ERB SR SRB
ERB SR SRB HPUB
o AHEIR © SOFT RUBBER © SOFT RUBBER o IEM Sy Et @ . . e
o TO|pP o IO L}o|&2 o 1EH0{3 620222 & o TOjLto|2

o 1EH013 620277

NYL

o AE Lol

MCB
o MC LIo|2
o 2=H|0{ & 60002

o YR 2715 (5H)ESD

MC

® MC Lto|2

o 2EH0{ & 600022

LDP

o AE BatAE

olA) 3341

A2|=H3

S

EtY

PU
HERI TR

B
Hloj

TLB

Bty




8. PCIC.,LTD
PBC 3341 Sseries
A58 I AFE Light Duty Caster
& 4HE 22Ut
o T MYUE 2UT
o HigtEo| XA U A HIER
REN
®
L[] &, .
mm mm
3 =5 s= | = 2E ALY SHUXIE | 4| mA
glzd B%TE %SE BETﬂ;('ﬂ geegoa | HATR 023 53 Hril,% BHW.% RR___ A2l | %ol
S BT TLB J @ e 9+@ ® @ |sBK| TB | o | H
POLYURETHANE (PUB)| 105 620277
POLYURETHANE
(PU)Z| M 80
PVC(VB) 75 2 620227 | 10+27
3341 3341- 3341- MIRAGEERS) | 80 620222 M16 x 2.0P
S @@ BT S @@ BT | OTTRUSBERCR |+ 1 2100 21.7| 85 107 | 35129
S@@ BT SOFT RUBBER(SRE) @n 620227
BK TLB 5425 | 54" 4 11ur
MC.Nylon (MC) 115 8 x 114t
MC.Nylon (MCB) 35 | 6000ZZ
Plastic (LDP) 100 37 10427
Nylon (NYL) 115
POLYURETHANE(HPUB) | 110 30 6000ZZ
S @@ S @@ s @@ e = A2 e
BTH BTH BK BTH TLB e 212 (M12) °°
Unit : mm
@ srzs/MaE )
PUB PU(§IA—|“'E'¢>|) VB —— @ @2;5 oo AE|
o AFE RFE o AE RFIE o AHE PVC @8 H.2gm
o AO{PP o TO{PP o TO|pPP @ @H  F: HRSHF EFX
o 12H|01& 620277 o 1=2H 013 620277 ® |[@mwHa :od@n)
PUB ERB SR SRB
ERB SR SRB HPUB
PPN=nl-! © SOFT RUBBER © SOFT RUBBER o MEHY et @ . . e
o A0{PP o 30| 0|2 o 1280]2 620277 & o F0jLiol2
o 1=2H 02 620277 o CHEYX|E IS (HYMESD o 224012 600022 HPUB NYL McB mc LoP
NYL MCB MC LDP O ’ . .
o AFELIO|E o MCLIO|E o MCL}O|E o AHEE2taE
o 2EH|0{3 600027
olA) 3341 S PU B BT BK
AM2|=HS EtQ HEF TR HiojF  ARAF ERY

®



WWW.pcic.co.kr

PBC 3351 series

4558 |AHE Light Duty Caster

& 48 22Ut
¢ T MYUE 2UT
o HYigtEo| XA} U A HIER
r
-
P © °
U[O O| u Es
I
¢ | Co
S0l |EuA0Z|  HAER | 6B | ay | 4AS | Hoj PLATE TR ) e | e
¥R | A¥s | H—TLB ST KE =4 Wﬁ : e Azl | =0|
° > ee < [} €anng F C HOLE | S, BK | TLB o H
POLYURETHANE
PUE) 115 620227
POLYURETHANE
(PL)BI 95 -
PVC (VB) 80 620227
MIRAGE (ERB) 90 32 620277
3351- | 3331- | 5ofT RUBBER(SR -
3351- | 3351- OR) 2125 95x66 | 74.5
S@@ S @@ | sorTrusser | 90 285 1005 113 | 38 157
Ree see (SRB) (5" 620227 x 45
BK TLB
MC.Nylon (MC) 120 -
MC.Nylon (MCB) | 120 35 6000ZZ
Plastic(LDP 110 -
(LDP) 37
Nylon(NYL) 120 -
POLYURETHANE(HPUB)| 120 30 6000ZZ
Unit : mm
I
@ srzs/MaE )
— ]
PUB PURIMZH) VB © %8 m. AgE
o APE e o A= 2B ® AME PVC @2 A gm
® 3O{pP ® 3O{pP o 3Oolpp ®H  F: HRASE EZ
o 1EH[0]d 620227 o 18 H[0]3 620227 @ EHME| : OtC(zn) &
ERB SR SRB HPUB . o= = i
o AZDE o SOFTRUBBER SOFT RUBBER o TEHN 23 @ . . °
® F0fpp e IO L}O|E o 12408 620277 e TOjLto|=B
NYL MCB MC Lop

o 1=2H01d 620227

NYL

o ME Lol

MCB

® MC L}o|2
o 2=H|0{& 60002

o OEUNEILS (F)

(A EM)ESD
MC

© MC Lto|2

Ol A1)

o 2=H01d 600022

LDP

o A= S22

3351

AME|=H=z

S HPU

EtY  HHE TR

/i

B
H o

TLB

£t

@




8O, PCIC.,LTD

PBC 3351 series

4558 7|AH Light Duty Caster

* 3y 2u7
* 23 Mg eury
o WO MU U £TIES

— @
®
‘_|_® [ 1
W mm mm o]
oH g | g=uyola |2E gEyoE  HHER S5 |HANZ[HAZ Ho == AHERE R | e
S BT S BT BK S BT TLB @@ Kg ] W | Bearing 0+@ ® @ |sex|mns| o | H
POLYURETHANE
(PUB) 115 620277
POLYURETHANE
(PU)S| 95
PVC (VB) 80 6202zz | 10+27
MIRAGE(ERB) 90 32 | 62027z V16 x 2,07
X 2.
3351- 3351- 3351- SOFT RUBBER(SR) 2125 -
s @@ BT S@@BT | S @@ BT | sorr ruBBER(SRE) | o0 5" 620277 21.7/100.5 | 113 38 | 155
BK TLB 5+25 | 58" x 114t
MC.Nylon (MC) 120
MC.Nylon (MCB) 120 35 | 6000ZZ
Plastic (LDP) 110
10+27
Nylon(NYL) 120 37
POLYURETHANE(HPUB) 120 6000ZZ
s @@ s @@ s @@ e ERYO) e
BTH BTH BK BTH TLB ce 212 (M12) c°
Unit : mm
@ srzs/ME )
— |
PUB PU(Z| M E4) VB
o AHE 2t o AHE et ® AHE PVC
o 30lpp ® TOIpPP e FO|PP
o 1EHK & 620277 o 1=2H0| ¥ 620227
ERB SR SRB HPUB s = - -
o AHE 1R o SOFT RUBBER e SOFT RUBBER o TELM S3E @ . . o
o FO|PP o AO|L}O|E o 12H|0{Y 620222 o FOfL}O|2
o 124013 620227 o URUNEIS (§) o 22HIO{Z 600027 oy AN S |

(B™HAMHESD p —
NYL MCB MC LDP . . . .
o AFE LIO|Z o MC Lto|2 o MC Lto|2 o AFE ZatAEl
o 2=H0{3 60002z
BT
— TLB
olAl) 3351 S PU

B
B NEZHE OB T MO AHAMY

PU




WWW.pcic.co.kr

PBC 3500 stries

#2182 F|AE| Deluxe Total Lock Caster

o LESEH A HEE 7|KHH
o B3 A SHES SFE X
o a2
RR
e LK
{fos -
N
W _O_l
== . A | M ERE | HA
a8 R S5 s geyoa B E B | HIANZ uwE| Hold PLAIE A RR g
S TLB @@ Kg [ W | Bearing F C HOLE a S LB u
3530- 3530- 3530-
0 76(3" 620277 44x74.5| 1 6
R @@ S@@  S@@ TLB 5 a76(3") 95x66 | 44x 3x9 36 | 74 1 103 | 109
3540- 3540- 3540- MIRAGE
70 1 4" 2 | 60877 44x74.5| 1 6
R @@ S@@  S@@ TLB (ERB) 21004 | 3 95x66 | 44x 3x9 36 | 8 | 113 | 137
3550- 3550- 3550-
0 127(5" 6082z 44x74.5| 1 6
R @@ S@@  S@@ TLB 9 2127(5") 95x66 | 44x 3x9 38 1 102 | 117 | 163
Unit : mm
@ szs/MaE )
ERB PUB @ FH & m: AR
o AEIR o A= @8 H:2gm
o FAO{PP o TOPP ®H  F: HAZR EX
® 2=2H|0{2 608ZZ o 12H|0{2 620227 @ BN 2=(n)
HPUB | )
= =
e FO{LIO| = _— A e
® 2E2H|0{2 6000ZZ
TLB
GlAl) 3530 S ER B TLB
HPU ME|lzHs EtY HHIFZHE  Hoj”  EpY




8. PCIC.,LTD

PBC 3500 strits

H 218 J|AE| Deluxe Total Lock Caster

@ srzs/Ma )

| = 1L
: |
— Lol 4
sHEE | EEEHOA | wABE | 43 | HANZ HAE HoY BE M o TR o
S BT S BT TLB @@ Kg a W | Bearing ©+@ ® @ . s 118 Y
3530- 3530-
' 620222
s@@6T | see BT 50 | 876(3") 36 | 74 | 103 | 1055
3540- 3540- MIRAGE
" 5 n
Se@bT |seesrTs | RE 70 | 21004") 32 | 6082z | 9+27 "X 11at 22 | 36 | 86 | 113 | 133
3550- 3550-
" 60822
s@@6T | see BT 90 | 2127(5") 38 102 117 160
Unit : mm

ERB PUB Q&g 22

o ANENR o ArERE @5 H: 22E

e F0{PP ® FOIPP ®@H T HIASF EZ
e 2=H|0j gl 608ZZ o 1=H0{& 620277 @ BHAZ| : 2E(c)

HPUB
o nEHgE
* 0jLtol2

o 2=2H)0|2! 600022

ER’ . .5..

olA) 3530 S

AME|=Hz

ER BT

B
EFl HERITHE HIOjZ ARIARY

@



WWW.pcic.co.kr

£50| =HE I|AE Foot Caster

S|, 7t

oz YH|, &

714 SR 2R

S2H|,
g

REAIR
o

EAIX
O - O

-

o

-

H

@
@
W mm mm
N FEIES, s | HAENE | ua= PLATE 54 x| w0l
B W ZE
PBC 40 F Nylon (NYL) 50 @ 42 20 55x55 | 42x42 | @65 | 30 51 71+10
PBC 60 F Nylon (NYL) 250 @ 50 25 73x73 | 58x58 | @7 38 63 82+10
PBC 80 F Nylon (NYL) 500 @ 63 28 90x90 | 70x70 | @ 9 46 77 103+15
PBC 100 F Nylon (NYL) 750 @ 75 30 | 95x95 | 70x70 | @11 | 53 91 120412
« 47T FHOE = 10T B8F x 2 Unit : mm
H3 E8 / f &
NYL _@7_,_@ @ # 2 o SM45C
AE LIoIE A @2 H: LTOlE CHo|FAE
-
! ®dt | : Nylon (%)
@ BHAZ| : EN=F

44

Nylon

<~ F(HEY)

of| Al

PBC 40 F (%)

AME|=Hs EtY




O, PCIC.,LTD

=0 2™ J|AE Foot Caster

SYEH|, 7t5dH], ZAE
o2 YH|, 2 Y| SLTH|
714 SR 28 g

A 2
- - ) &)
3 _
-‘.. i @ ]
B @

- W mm mm

N HAES S5 | HAEEZE | ua= ZENY S4 smuxa) mHEol
HE = K W el RR H o+
ee Y e © @ 0 :
PBC 40 S Nylon (NYL) 50 o 42 20 10 | M8x125P | 30 51 71410
PBC 60 S Nylon (NYL) 250 % 50 25 18 | M12x125P 38 63 82+10
PBC 80 S Nylon (NYL) 500 2 63 28 16 M16x20P | 46 77 103+15
PBC 100 S Nylon (NYL) 750 275 30 24 | M16x20P | 53 91 120412
" AN FHAF = 10 S 8HS x 2 Unitmm
H# &5 / xf &
NYL o @0 # 7w Sx2E
AtE LIOIE a @82 A : Y205 CoHAY
. @
‘9! ®H F: Nylon (%)
@ BHXZ| : EN=FE
- S(2EEY)
O
GlA) PBC40 S (BE)

AME|ZHS EtY

45



WWW.pcic.co.kr

PBC 5000 PCI series

35138 H1AE Heavy Duty Caster

* 43 52 up
o AEK 2B TEIE
o WE ZHG U7
F
O\I:ID.LE < 0
w (e} OE I
e,
¢ | o |
MR | s BEEHOIS| EEROA | ASE | &F MANB Az Mo PLATE j;i; S|RURIE RR ";”j:
< = S BK S TLB @@ Kg o W |Bearing F C HOLE o | SBK| TLB nH
POLYURETHANE
320 48 27
5040- | 5040- | 5040 - | 5040 - (PCIB) 2100 925 | 149 | 142
R@@ | S@@ S@@BK S@@TLB \(\ ey 350 ) | 50 "
POLYURETHANE
5050- 5050- 5050- 5050 - (PCIB) 340 2125 48 3 109 | 148 | 164
R @@ S @@ s @@ BK 'S @@ TLB MC.Nylon(MCB) | 400 (5") 50 92.4x67 e
77x76 |21x12 385
POLYURETHANE 360 48 620377 114
5060- 5060- 5060- 5060 - (PCIB) 2150 x 102 (847 | @9 46 186
R@@ S@@ S@@BK S@@TLB jcnyion (6" x71.5) 121 | 141
(MCB) 450 50 TLB TLB
% 5060 EHE[0|3 (TLB) HH[&E0| 3mm 40|, EIS Wz, 39 189
POLYURETHANE
380 48 45
5080- | 5080- | 5080- 5080 - (PCiE) 2202 146 | 151 | 241
R@@ | S@@ S@@BK S@@TLB wmcwvyon | o0 &) | "
(MCB) 48.5
Unit : mm
@ wRss/ M ) -
PCIB MCB T
o T E ¢ MCLIO|E @8 H: 2@
o 30| CAST IRON o 224 0{gl 620377 ® 8 F: HREF EX
o 2EH|0{3 620377 @ BHAZ|: Of%@n) =5
PCIB MCB
Ol A) 5040 S PCI B BK
AM2[=Hz  ErQl HEFIHE Hoid ERY

@




PBC 5000 NYL SeriEs (12&)

5158 FHAE| Heavy Duty Caster

=

¢ 250°C TItX| A8 7ts
o AFA HEAM AEIA X}

PCIC.

LTD

o MIf, M AX, M2ty fFelAE
F
O\HQ_E O 0
w (o] O} =
$ @
—c |
i e | s 24 | wA
28 R sm g | HREHCD |HASF | oF | HANZ juR= ) uol PLATE e | o
S BK NYL Kg o] W Bearing = € HOLE o Y
5040- 5040- 5040 - Nylon 350 2100 45 27 | 142
R @@ S@@ | S@@BK | (NY (4"
92.4x67
77x76 | 21x12
5050- 5050- 5050- | Nylon @125 oo 114 X X 4 | 164
R @@ S@@ | S@@BK | (NYL (5" x 102
(847 @9
x715)
5060- 5060- 5060- Nylon || 8150 | . a6 | 186
R @@ S@@ S@@BK | (NYL) (6"
Unit : mm
© wRzEs/ME )
m— ]
NYLB EEEEE
o Holg 2 M. Agm
e 2=H|0{2 620377 @ 3. HIZSE E=X
@ BEHEMZ|: O@zn) =5
S
BK ca
il Al) 5040 S NYL B BK (1=8)
NYL (128 AME|=Hz  EtY  HFRTHE Hold Ef




WWW.pcic.co.kr

PBC 5000 ER skries

5158 IHAE Heavy Duty Caster

o 8m g 34 eutn
* 2E Y= 2oty
F
C&mgﬁcs
w [o] Q] O By
@ o
¢ 1|
2¥ | S | mEsmdold wEAOZ | MASR | oF | HIRNZ HIAE| ol PLATE 22 mmems T
R S S BK STLB ER Kg 2] W | Bearing E C HOLE o SBK | TLB nH
PLASTIC MIRAGE 130 600327 27
5040- 5040- 5040- 5040 - (ERB) 2100 925 | 149 | 142
RO@@ | S@@ S @@ BK|S @@ TLB | PLASTIC MIRAGE 4" TLB '
ERB (ESD)H| 230 6203 31.5
PLASTIC MIRAGE
600327
5050-  5050- | 5050- | 5050 - (ERB) 10 g5 | o 43
109 | 148 | 164
RO@ | S@@ S @@ BK|S @@ TLB | PLASTIC MIRAGE (5" 92.4x67 TLB
ERB (ESD)X| T 250 6203 77x76 385
21x12 :
PLASTIC MIRAGE 114
5060- | 5060-  5060- | 5060 - (ERB) 180 | 4150 6003ZZ 15 , 46 186
a
RO@@ | S@@ S @@ BK|S @@ TLB | PLASTIC MIRAGE (6" (84.7 x
ere (EsDyH|H | 280 6203 o) e 12T
% 5060 TE 0|3 (TLB) FHE0| 3mm 40|, SIS W3, 39 189
45
5080- | 5080- 5080- 5080- PLASTIC MIRAGE 320 2200 50 | 6203 146 | 151 | 241
RE@ | S@@ S @@ BK|S @@ TLB | ERB (ESD)M T (8" TLB
48.5
Unit : mm
@ wazs/ My )
m— |
ERB ERB (ESD) AEim
o AELNR o AELR Agim
© Z0{PP ® DOPP SR BE
o iR gE s (&)
ERB(ESD)

ol AD

5040

AlE|=HE  EFY

S

ER

HFF{ =

B
H| o

BK mI=g)

Efel

@




©. PCIC.,LTD

PBC 5000 HPU SERIES

6158 IHAE| Heavy Duty Caster

F
O\.I:IQ.E <
. s] ol © E=
P &
—c ]
sm=zoa | B =OA | BABR | o5 | HANY HAE| HoY PLATE S |emema | HA
_Tl_x‘l R ??:lﬁ S = =H — o TT =) = = .o 7‘|E| _I.I?Ol
S BK S TLB HPU Kg a W Bearing F C HOLE o SBK | TLB H
27
5040- | 5040- | 5040- 5040 - 230 m(")o 025 | 149 | 14
RHPU | SHPU |SHPUBK S HPU TLB @) T8
315
POLY 92.4x67 3
4
5050- | 5050- | 5050- | 5050 - |URETHANE Jsp | 9125 4 TIXT76 1 51512 109 | 148 | 164
RHPU | SHPU |SHPUBK SHPUTLB 00 6 50 eo003zz | T8
X
(84.7 x 9 385
71.5)
5060- | 5060- | 5060- 5060 - J50 | @150 46 186
RHPU | SHPU |SHPU BK S HPU TLB 6" o1 | 141
T8 LB
) ElH T = ALO| 3HOIS Hb 39 189
¥ 5060 EEEZ[0[3 (TLB) MH|=0| 3mm 40|, &l UF,
Unit : mm
© wazs/ My )
HPUB ® 3 2o Agn
o TEHY 22 Et = M . AET

e ROjLIO|R

o 2=H|0{ & 6003ZZ

o
B

L

f

®H  F:HRASRE
@ ®EHAE| : OtA(zn)=

Ol Al) 5040 S HPU B BK

AMglz¥z Bty HHEF MHE O HOE B

i

oj

@



WWW.pcic.co.kr

PBC 5101 series

L8 A S35 8 7| AE] Stainless Steel Caster

I
axp | spg ST EHOE SRESHOA| HRER | 45 | HANZ uAE Mol PLATE ol e
-4 (i . =
S BK STLB @e Kg @ W |Bearing | C |HOLE| o |SBK| TLB | H
POLYURETHANE
(PUB) 150
POLYURETHANE
5141- | 5141- | 5141- | 5141- weop | 230 | 2100 e003zz 35 85 134 | 144
R@@ S@@ S@@BK S@@TLB \uceers | 130 | @)
MC.Nylon(MCB) | 350 620377
POLYURETHANE
(PUB) 180
_ _ _ _ POLYURETHANE 60037Z 90x68
5151 5151 5151 5151 (HPUB) 250 !26136 43 | 106 | 144 | 165
R@@ S@@ S@@BK S@@TLB ,iccerm | 150 | ) “ 115 20
MC.Nylon(MCB) | 400 62037z X 100 (83.79 x 11
POLYURETHANE x715)
(PUB) 210
) } _ _ POLYURETHANE 600377
5161- | 5161 5161 5161 i 280 | 2153 s1 | 128 | 144 | 191
R@@ S@@ S@@BK S@@TLB ,..ccoo 150 | (6)
MC.Nylon(MCB) | 450 620377
POLYURETHANE "
5181- | 5181- | 5181- 5181- i 250 | 2203(8") 600322 65 | 165 | 168 | 241
RO@ | S@@ S@@BK S@@ TLB | ycnyonvcs)| 500 | 2200(8") 620377
Unit : mm
@ wzs/ My )
m—— |
PUB ERB McB @ % % B SUS 304
o ArEEt o ArEnf o MCHo|Z = %
© TO|PP o FOIPP o 22H|0{2 620327 @& M SUS304

® 22H|0{2 60032Z © 22H]0{2 600377 @8 7 HFSF EZ

@ EHME| : BUFF(H )

HPUB
o nEhgPE * DHEFQIO| ALO|E E|0|3 A THs (4~6")
o IAOLIO|E

o 22H|0{2 600377

TLB
ol Al 5141 S PU B BK

AME|ZH= Et  HIF WE MY E

®



O PcCIC.,LTD

PBC 5102 SERIES

L8 A] 55158 7| AE] Stainless Steel Caster

. == | = = PLATE S48 SIHEXIE RR| T
AR | s CEEECR| HEBR | aE | HEAE A= Hold Az| "y
S TLB @@ Kg %] W | Bearing F C HOLE | © S TLB | H
5142- | 5142- 5142 5o | @100 oo | 72 132 | 144
R@@ S@@ |S@@TLB 4"
5152- | 5152- | 5152- o | 0125 O o | 02 | 143 | 165
RE@  see seeTs ... (5) w07z g | W0X68 |
— 54
s = 4y X100
5162- | 5162-  5162- Me® o | °150 4% (84x72) 26 | 111 | 145 | 101
R@@ S@@ S@@TLB (6"
5182- | 5182- | 5182- 800 | s200@" c3 | 153 | 171 | 241
R @@ S@@ |S@@TLB
Unit : mm
@ wass/Ma )
m—— |
MCB @ #| = @ SUS 304
o MCLIO|Z

= X : SUS 304
o 6203ZZH| 0|2 4EA (XX 2EAM A @ i

®H 7 HRSRE X

@ HHAE| : BUFF(H{IZ)

TLB

Ofl Al) 5142 S MC B TLB

M=z EtY HER ZHE HO™  ERY

@



WWW.pcic.co.kr

PBC 5200 series

&5 8 IHAE Heavy Duty Caster

o LT TEH=E UL
¢ A3kt £F OEE
o 2R IS 2
F
O\unm >
('8 (= O
) &
—< |
) = == . = PLATE =3 HH
I8 R M s oI 2g0|3 | HFBF otE | HHREE [ HRE ﬂﬁ% A3l | =o|
S BK @@ Kg %] W Bearing F © HOLE o H
POLYURETHANE 620277
5230- 5230- 5230- | ecsreany | 180 | 75 | 34| pier 2s | 105
R @@ S @@ S @@ BK | \cnyionivics) | 250 (3% 35 | 60032z
POLYURETHANE| 1 34 | 620272 15.5x10
5240- 5240- 5240- (PCIB, PCIN) @100 Roller 100x84 76x58 336 | 135
R @@ See S @@ BK MC.Nylon(MCB) | 280 (4" 40 600327 68x66 | 285
POLYURETHANE | 620277
5250- 5250- 5250- | (pcis, PCIN) @125 |, | Roller (72x 388 | 158
R @@ S@@ | S@@BK  \cnyonmes| 300 | ) 600327 62) '
POLYURETHANE | 620277
5260- 5260- 5260- PCIB, PCIN 2150 15.5x10
: ) °° |40 | ROl g7ygs 2% 38 1190
R@@ S @@ S @@ BK MC.Nylon(MCB) | 300 (6" 6003ZZ (4=)
Unit : mm
© wRzs/ My )
— ]
PCIB PCIN MCB e
o TP o THLYE o MCLIO|Z Agm
o 0{ CAST IRON o IO CASTIRON o 2=H|0{& 60032Z W =E ax
= 2| =
o 22H|01Y 620277 © Roller H|0{& . ofel(zmED

Ol AD)

5240

A==

S

Efel

PCI
HEH T 2

PCIN

MCB

B or N

£ or L|E HIO{F

BK

Ef




O, PCIC.,LTD

PBC 5200 series

&5 8 IHAE| Heavy Duty Caster

o A4S TYE 2t
o XS BEE OEIE
o HE IYE 2Pt
@
® l
B [ ® o
x
L[] o, .
mm mm
ST EE YN BEEHO|Z| wASE | oF | HANY HHB| HoZ EEMY ijl' Ef:
S BT S BT BK @@ Kg 2] W Bearing D+@ ©) ® 5 "
POLYURETHANE 620277
5240- 5240- (PCIB, PCIN) 200 2100 34 Roller 336 | 135
S @@ BT S@@BTBK | ycnyonce) | 280 | @) | 40 | 60032z '
2+37 MT6 24
POLYURETHANE | 620277 + x 2.0P 2
5250- 5250- (PCIB, PCIN) @125 40 Roller 288 | 158
S @@ BT S @@ BT BK MCNylon (MCB) | 300 (5") 600322 ’
Unit : mm
© wazs/ My )
m—— |
PCIB PCIN MCB oH= . e
o FHRYE o FHLYE o MCLio|Z2 o= 1. ~gm

o T O CAST IRON © 30 CAST IRON o 2EH0{& 600322
o 22H0{& 62022Z  ® Roller H|O{&

@8 #: HASE BZ

@ BHANZ| : OtH(zN)ET

olA) 5240 S PCI BorN BT BK

ME|=Hz By HIFZHE 2 or LIS H[O{R Et

©



WWW.pcic.co.kr

PBC 5201

L8 A S515 82 7| AE Stainless Steel caster

SERIES

e

g PR = anes = = - BTN T
QR | g HHSHID HBESAOS  HAZR | 45 MANZ uAZ) Mol PLATE S e
S BK STLB @@ Kg s W | Beaing | C | HOLE | o |SBK|TLB g
POLYURETHANE
5231- | 5231- | 5231- 5231- (PUB) 130 | 476 | 40 2 | 63 1114 | 106
R@@ S@@ S@@ BK S@@ TLB MC.Nylon(MCB) 250 (3") 35
POLYl(JPRUE;')HANE 140 38 76x58
5241- | 5241- | 5241- 5241- 2100
MCNylon(MCB) | 280 40 68x66 336836 121 135
R@@ S@@ S@@BK S@@TLs MY @) 15.5x10
MIRAGE(ERB) | 120 38 98
POLYURETHANE 600327
i 150 38 X 85
5251- | 5251-  5251- 5251- @127 e 585 265|102 |13 | 150
X .
R@® S@@ S@@BK S@® TLB MC.Nylon(MCB) | 300 (5") 40
MIRAGE(ERB) | 130 38
POLYURETHANE
5261- = 5261- | 5261- 5261- (PUB) 180 | 4150 = 40 a | 1221135 | 191
R@@ S@@ S@@BK S@@TLB | \ycnyonmes)| 300 | (6) | 40
Unit : mm
C wazs/ My )
— ]

PUB

o A= &
e A0| PP
o 2=H|{ & 600372

MCB

o MCLO|2
o 22H|0{2 6003ZZ o RO PP

ERB

o AHE 1R

o 2=2H|0{3 600322

GilAl)

SUS 304

SUS 304

HISF 2=

© BUFF(H{ )

TLB
5241 S PU B BK
MEI=Hs EtY HERTHE BlojR  EbY




35138 7HAE Heavy Duty Caster

& PCIC. ,LTD

2E s2E euy
sk 2E O E
Ag Be, 59 2RE 0K
m 0
- SIxE == | 5= = PLATE S || FBR 2 RR| A
axR | sm | PREHOR HHESHNL WAZR | 6F MANY S| W0l ol i o
S BK S TLB ER Kg a W | Bearing E € HOLE| o |s BK| TLB H
5440- | 5440- | 5440- 5440- | MIRAGE o100 1 | 8 | 125 | 120
RERB | SERB |SERBBK SERBTLB (ERB) 4"
5450- | 5450- | 5450- 5450- | MIRAGE 2125
180 | 2 ¢ 92x67 34 | 97 | 130 165
RERB | SERB |SERBBK SERBTLB (ERB) (5" B
11
48 62007z '1° 20
x100 | . x11
5460- | 5460- | 5460- 5460- | MIRAGE | 0150 ( 10 | 114 140 | 101
RERB | SERB SERBBK SERBTLB (ERB) 6" x715)
5480- | 5480- | 5480- 5480- | MIRAGE |, 0200 co | 150! 150 22
RERB | SERB |SERBBK SERBTLB (ERB) 8"
Unit : mm
Hi# S5 / M &
ERB @ F & §: AT
NR 12 -
FojLteE @8 M. 2gH
2=H|0{ & 620277 @ H  F: HIHBZEF Ex
@ #2HNZ| : Of@Ezn)EF
TLB
Gl A) 5440 ) ER B BK
ME|IZHE Erd HEE ZHE Hojd ErY

55



WWW.pcic.co.kr

PBC 5500 skries

Z5158 I|AE| Heavy Duty Caster

o Ao Hel SHIS E88 ikt
¢ ASAEE OiEIE
o 4T TE=E 2T
F
O\HQLE °
w (o] O] O -
P g
—c ] o |
N == . PLATE 4| A
o5 R 38 s 3|™ 280]3 H R B & stE | HHEE | HRF H1|01.<E:' Hal | =0
S BK @@ Kg 2] W | Bearing . c HOLE o o
5540- 5540- 5540- POLYURETHANE 2100
R @@ S @@ s @@ BK (PCIN) 320 ") 48 27 | 142
92.4x67
5550- | 5550- 5550- | POLYURETHANE | | @125 | X i3 | 16
R@@ S @@ S @@ BK (PCIN) (5"
Roller 114 77x76 21x12
X
5560 5560 5560 2150 o= | x 102
- - - | POLYURETHANE
84.7
Re®@ se@ se@Bk cany | 299 gy 4 (7 e )X 46 | 186
5580- 5580- 5580- POLYURETHANE 2200
4 4 241
R @@ S @@ S @@ BK (PCIN) 380 (8" 8 >
Unit : mm
@ wazs/ My )
m—— |
PCIN oW Agw
o TP @8 H: 2zW
® 30| CAST IRON ®u 3 uZ= &x
¢ Roller #]0{ g @ BN OfdEn)ES
alAl) 5540 S PCI N BK
AE|=HS EFQl HHHZHE Hjof Et

©



PBC 5500 O}A|H} series

&5 8 HAE| Heavy Duty Caster

=

PCIC.,LTD

F
MG °
ul o OE[ =
PP éﬂ
C [ o]
OfAJH 4| Hk
oAb HEOIR | BAHEE | 85 ANE BAE sy PLATE I Bl i
OFA|B}F BK @@ Kg o W | Bearing . 0 | pes 9z |z | =M | 2o o “H
A B t C
5560 - 150
170 | 20 4 35 31| 2t 115 46 | 186
OFAIHF BK POLYURETHANE 6
Roller
H| of 2
(PCIN)
5580- 2200
250 48 35 | 31| 2t | 115 45 | 241
O}A|H} BK (8"
Unit : mm
O EEYEE )
—
PCI o
o FHLYE PN
® 30{ CAST IRON P
© Roller H|o{ & OtA@zn =3

glA) 5560 OfA|H} BK

AME| =z

et

0



WWW.pcic.co.kr

PBC 5700 series

2t=2 F|AE| Shock Absorber Caster

o A=S TWQR Gt 287
¢ 4T XA REDEIE
o U3 TEE 2UF
F
0
& o]:o ol w O
0]
C Lo |
IR SIS |udeola]  HFER | 3F | HFNH  HHE | sojd PLATE i:*l' Efj:
(M Ah (A4 A BK (A 4h @@ Kg P W | Bearing . c HOLE o EH
POLYURETHANE 360 48
5760- 5760- 5760- (PCIB) 2150 47 | 201
R @@ S@@ |S@@BK |, ,cric MRAGE (6" 133x86
ere (esp) Mz | 280 50 114 | 125%62 12
620377
POLYURETHANE 400 48 x 159 (129 26.6x14
5780- 5780- 5780- (PCIB) 2200 x 79) 75 | 245
Ro@@ S ee S @@ BK | p asric mirAGE 8"
ERB (ESD) A& 320 50
Unit : mm
C wazs/ My )
—
PCIB ERB (ESD) or o o
o FYRYE o AELF @2 A 2g@
® 30| CAST IRON o TO{PP @ 7 HEER EE
o 22H|0{Y 620322 o 22H|0{2l 620327 @ BEX2| OtAEn)ES
o oaxzstse (9
“E———S
BK __ /¥
B olA) 5760 S PCI B BK (O] or M)
PU NEIZHS Bl MM wojy et M

®




O PCIC.,LTD

PBC 5800 series

13558 /HAE Heavy Duty Caster

* 243 XS BE DHE
* IE = 2
o WX B 2oy
F
i g\HOLE Q'E|O -
g ©
C
o
L = = = PLATE 24| ®A
2% R S8 S 3™ 2goj=2 HREF 5t | HHFEY [HHE H1|01.%' el | =o|
S BK @@ Kg o | EEEing F C HOLE | O | H
POLYURETHANE 450
5860- 5860- 5860- (PCIB) 2150 60 34 | 194
Re@ Se@ S @@ BK MC.Nylon(MCB) | 550 (6"
133x86
POLYURETHANE 500 620477 114 125x62 | 26.6
5880- 5880- 5880- (PCIB) 2200 60 x 159 x14 | 59 | 248
R @@ S@@ S @@ BK MCNylonMCB) | 600 8" (129x79)
POLYURETHANE 2250
5810-R @@ | 5810-S @@ |5810-S@@BK 600 60 62 | 284
(PCIB) (10"
Unit : mm
E—— ]
PCIB MCB AEIT
o U E e MCLo|Z A8
® T 0{ CAST IRON e 2=H|0{Z 620427 EETES=RFIFS
e 2=2H|0{ & 620427 Ot (zn)E=

5860 S

Bt

PCI B
HETHE  HIo™

BK

Bt

Ol AD)

AE|=HS

®



www.pcic.co.kr

PBC 5900 strices

27|dt3 8 7HAE| Pnumatic Tire Caster

- = E
>¢W:“ L X
’ “HOLE Q-
4 u E|o I
' o3
& c 0
oM abs
2% 83 % 23 o Eare ot AUz 5 f];o*:
R YOKE S YOKE 7] Kg = C HOLE o Y
5980-R YOKE 5980-S YOKE @200 (8") 500 52 154
133 x 86
125 x 62
5910-R YOKE | 5910-S YOKE | @250 (10") 600 114 x 159 26.6 x 14| 55 174
(129x79)
5912-R YOKE 5912-S YOKE @300 (12" 700 60 191
Unit : mm
—— ]
‘l-'“ @32 E: AW
@ ®BHANE| : ofH@zn=Z
\?;gﬁﬁ-& S
/ / alA) 5980 S YOKE
ANE|=HS EtQ}

®



PBC 2| =

2|ZEZ Lift wheel

E 2l ories

O PcIC.,LTD

2| EETRIPS HFR| =
M & HEHs wazg @y | e T -
Bearing (%) W
4" EZIZ|=ZEEZ POLYURETHANE 6203 2100 40
6" EAZ=ZEZ POLYURETHANE 6204 @150 44
8" EAZ=ZEEZ POLYURETHANE 6204 2200 48
Unit : mm
¢ TH[OHXHE 2
¢ HETIEHE EEE =
! Hi & E B =
N = HEHs uEE WD) A2 seE | s
Bearing [ w
@85 x 75 MC 2| =E ¥ MC.Nylon (MC) 6204 @85 75
085 x 75 S| ZE#E POLYURETHANE 6204 @85 75
@85 x 95 MC 2| =E ¥ MC.Nylon (MC) 6204 @85 95
085 x 75 S| ZE¥E POLYURETHANE 6204 @85 75
Unit : mm
ol Al 4" ZIg=E &
AE|=HS EtQ)
OlA) @ 85 x 75 MC Z|ZE #
AE|=HS ME EtY

®



www.pcic.co.kr

PBC 7261 series

2t=2 F|AE| Shock Absorber Caster

o ABS WAR Bl 2UT
* 2E ASR LEDE
o 245 2 U7

3
= T
2> o ©)
[ ¢ |

(]

H

L (o]
ﬂ b,
m — < 1
C -Q-I
18R B s CEEL HI S8 513 (B RZA | B E | yoja PLATE ;%S; E?:
e (18) S BK (44) ee Kg | o W | Bearing | . c | hHoe | o | H
POLYURETHANE
360
7261- 7261- 7261- (PCIB) 133x86
R @@ S @@ S @@ BK
2150 48 | 620322 114 | 125x62 | @12 51 | 201
(6" x 159 26.6x14
(5,814) (H,014) (5,014) | pLasTIC MIRAGE .
' ' ' 280 X 79)
ER (ESD) M|
Unit : mm

PCIB ER(ESD)

o THRYE CYPN=—Sn}-]

e 30 CASTIRON e TO{PP

® 2= H|0{ 3 6205Z2Z ® 2=H|0{3 620327

o ChEEX|T IS M) (B)

ESD

oAy 7261 S PCI B  BK (0OJA or M)

A2l =¥z ER HIFZHE  Hiojy  Er A4




©. PCIC.,LTD

P 7500 seriEs

1558 I AE Heavy Duty Caster

* 25 XEX BB TAE
* 213 332 27

-

G -
N Q\x;mLE E|° \O
% N
C |
W C (0]
s == 1= = PLATE S8 A
2% R |7 s 3™ =30|2 B S 2 Sl= | HIREY | bR E Hﬂoi%' 3 | o]
S BK @@ Kg %] W Bearing F I HOLE o H
7540- 7540- 7540- 600 | @100 | 70 35 | 143
R@@ S @@ S @@ BK 750 4" 64
7550- 7550- 7550- 700 | @125 48 | 165
R S S BK 5"
@@ @@ @@ POLYURETHANE 850 (5" 133x86
7560- 7560- 7560- (PCIB) 720 | 2150
) 125x62 68 | 191
R @@ S @@ S @@ BK 870 (6") 159
o 200 620577 114 26.6x14
7580- 7580- 7580-
? " 64 58 | 257
R @@ S @@ S @@ BK MC.Nylon 920 (8" (129
7510- 7510- 7510- (MCB) 820 | 250 x 74) 6 | 301
R @@ S @@ S @@ BK 970 = (10"
7512- 7512- 7512- 900
2300 80 | 348
R @@ S @@ S @@ BK 1050 | (12"
Unit : mm

PCIB McB @3 %o AYW
o FY e MCL}O|E @2 H:AgE
® T 0f CAST IRON e 2=H|0{ 2 620527 ®H | HREE &x
e 2=H|0{2 620527 @ EHANZ| : OtH@zn) =&

olAh 7560 S PCI B BK

AE|=Hs Efl HHTHE HOE  Er

®



WWW.pcic.co.kr

PBC 7600 strices

1858 | AE Heavy Duty Caster

& Y UEH| A=
& HET| HE Eda
& SYH| 0|50 Matst AW XXt

Q\I:LQI.I: 0- T
. }0 Q@
¢ ; N
o =
w C 0]
& == a1 = PLATE =4 A
28R sps | dEeH0R | HRER G4 | HRNZ | HRE | Hold o | o
S BK @@ Kg @ w Bearing F I HOLE o H
7660- 7660- 7660- 1,000 | g152 66 | 203
R @@ S @@ S @@ BK 1,600 6"
POLYURETHANE
7680- 7680- 7680- (PCIB) 1,300 | 4203 ss | 267
R @@ S @@ S @@ BK 1600 | (8" 155.5x104.8
183 x
76 620577 133.5485.7 14.5x29
7610- 7610- 7610- 1400 | 454 133 2X85.
Re@ see@ Se@@BK " (107 | 38
(MCB) 1,600
7612- 7612- 7612- 1,600 304
e i 105.5 | 393.5
R @@ S @@ S @@ BK 1600 | (12"
Unit : mm

N

PCIB MCB
o =Yy E ® MCLIO|Z
® T 0| CAST IRON e =H|0{3 620527

e =H|0{ & 620577

alAl) 7660 S PCI B BK

AMgl=#Hz  ErY HIEFAHE #o Bt

@



©. PCIC.,LTD

BC 8000 series

X558 7HAE Ultra Heavy Duty Caster

& 5T 7| A28 EH|
& =515 M E or X| a2t
ol £
O\I:I.C).LE 4 I
w [&
? e,
w | c lo]
3 == e~ = PLATE S8 | HH
ax R 3% s 2ME 0|3 HZ &/ 5= HHR| 2 | B E H1|01.%' Az | =o|
S BK @@ Kg 2} W Bearing F C HOLE o H
8060- 8060- 4,000 2150 230
R @@ S @@ ' 6"
8080- 8080- 5000 2200 285
R @@ S @@ POLYURETHANE | 8" TAPPER| 220 180
100 1 50
ROLLER| x 184 | x 146 | 21°
8010- 8010- (PCIB) I 240
R @@ S @@ ' (10"
8012- 8012- 5 000 2300 390
R @@ S@@ ' (12"
Unit : mm

o 2HO|H & HO{E

Of|l A]) 8060 S PCI B

AE[=Hz Bt HRR ZHE o




WWW.pcic.co.kr

B

8100 striEs

X155 8 HAE Ultra Heavy Duty Caster

e 2HO|H EHH A

Gl A

S|FE EES- e HIRXIZd | Wi = | PLATE S5 A
2R om s BE=H0R 55 S5 | HANY AR HoY o | ol
S BK @@ Kg I} W Bearing F c HOLE o §

8160- 8160- 2150
- 2,500 " 57 | 215

R @@ S @@ (6"
8180- 8180- i 2200 263

RE@ | S@@ POLYURETHANE ® | o e | 190 | 152
(PCIB) ROLLER | x 165 | x 114

8110- 8110- @250
- 3,000 65 | 315

R @@ S @@ (10"
8112- 8112- 2300 370

R @@ S @@ i (12"
Unit : mm

8160

AE|=H=

Ef

PCI
HES ZHE

B
H| o &

®




©. PCIC.,LTD

BC 8300 series

X155 & 7HAE Ultra Heavy Duty Caster

o
SIS 7| A28 FH|
ot

HZE or X| A4t

@ - °
LCP S 1
Y [ c | o]

> = e = PLATE M oA

o R 3|8 S 3™ 20|32 HZF St | HRIAE |HHRF H1I01.%' A3l | =0l
S BK @@ Kg %) W Bearing F C HOLE 0 H
8360- 8360- 8360- @150 213
R @@ S @@ S @@ BK (6"
POLYURETHANE 175 135
1,200 620477
(°CiB) 64 x150 x110 21° 60

8380- 8380- 8380- 2200 263
R @@ S @@ S @@ BK (8"

Unit : mm

PCIB

OFEE: 2gH

° FT RHE @8 H: 2g@

e T 0{ CAST IRON @ @H 3. HFEE &#x
® 25 6204ZZ H|{ & @ EHKAE| : ofd@EznES

B oA 8360 S PCI B

PU AE|=H= Bt HIF ZHE  HOF

®



WWW.pcic.co.kr

PBC & Caster stries zauuz

858 7| AE| Stainless Steel Caster

.
*
*
(T8 n
2
W I_Q_
= S =2 3|Merx| g Rr| A
a8 R T BEHOR | uazm: | 3E HTAHB|uwn= e PLATE 72l o0 | SIWERIE RR s
TLB @ Kg 2} W |Bearing| F C HOLE| s | TLB| S | TLB| 4
POLYURETHANE
120
EM-80 R | EM-80 S | EM-80 TLB = 280 100 | 8OX60 |45
Nylon(NYL) 32 | 6202 36 | 44 | 77 133 | 109
-@@B -@@B -@@B (3" x 85 x 9
77x60
MIRAGE(ER)
POLYURETHANE
150
(PU) 80x60
EM-100 R | EM-100 S |EM-100 TLB Nylon(NYL) 0102 | L o, | 100 20 5 57 | es 134 126
-@@B -@@B -@@B y @) x 85 X9
77%x60
MIRAGE(ER)
POLYURETHANE
180
(PU) 80x60
EM-125R | EM-125 S |EM-125 TLB Nylon(NYL) 2125 | o o0y | 100 12 5o aos | o6 | 134 | 151
-@@B @ -@@B -@@B Y (5" X 85 x9 |22
77x60
MIRAGE(ER)
POLYURETHANE
250
(PU) 80x60
EM-150 R | EM-150 S | EM-150 TLB 2150 100 12
Nylon(NYL) 40 | 6204 38 | 3451135 | 134 | 190
-@@B -@@B -@@B 6" x 85 X 9
77%x60
MIRAGE(ER)
* FRMUUECE WFF 45UWPE A HLCL unitmm

PUB NYLB ERB FEEE IS

o AtE &t o AE LIO|E o ANENF @2 M. AHQlYAT

e T O{PP e TO{PP @H I HRASE HE
@ BBz - BUFF(HID)

TLB
oA EM-100 TLB PU B

M=z B MWE  HoF

®



o ~ =
PBC & A Caster serits (=2
L2 Al S515 82 | AE Stainless Steel Caster

o

8O, PCIC.,LTD

& AEE RHt
¢ oE7|7| 2ut
¢ StingAl R4t
[163]
_ [©)
: o
@ [ ] o
W mm mm
= A= = = F =R 3 = A
we gy | == HEEOIS  usR | 47 HANI ww=) ol =EAY Sy | R
BT TLB @@ Kg %) W |Bearing| @+@ ® @ | 6 o S TB | H
POLYURETHANE
*PU) 120
EM-80 BT EM-80 BT TLB 280
Nylon(NYL) 32 | 6202 44 | 77 | 133 | 109
-@@B -@@B 3"
MIRAGE (ER)
POLYURETHANE "
PU) 150 58"x 114t
EM-100 BT | EM-100 BT TLB | lon(NYL) 2102 32 | 6202 37 | 85 | 133 | 126
-@@B -@@B Y @"
. 212.3
MIRAGE (ER) 95 | Y2"x 124t
POLYURETHANE +27 22 (M12)
*PU) 180
EM-125 BT | EM-125BTTLB | lon(NYL) 2125 32 | 6202 M16 x 2.0P 295| 96 | 133 | 151
X £. .
-@@B -@@B Y (5"
MIRAGE (ER)
POLYURETHANE
FU) 250
EM-150 BT | EM-150 BT TLB 2150 o
Nylon(NYL 40 | 6204 MEdALSE 3451135 | 133 | 190
-@@B -@@B ylon(RYL) 6" (=AY
MIRAGE (ER)
* TR MAMZOR WIES 45U™LE AQEIL|CE Unit : mm

PUB
o A=

NYLB
o AIE LIO|E

2| E

e T0{PP

ERB

o AELR

e IO{pPP

Oofl A1)

EM-100

AME|=H=

BT TLB

22 EY

PU

Y

B
H| o

®



WWW.pcic.co.kr

PBCV Y= FHAE] series

Angle Caster

F
-@\_HQLEQ
Ol: L] I
:@ 0 &
[ c |

_ o TE | #old 58513 HIFXA | HIFE PLATE A
X = REeS . . =
Material | Bearing (Kg) o W F C HOLE =0|
125"V | A€ 607 70 232 25 | 55x31 | 41x18 | @63 | 38
2"V =N 608 80 %50 27 67.7x383 534x24 | o7 | 593
25"V =N 608 100 @65 30 | 80x41 | 63x265 | o7 | 755
3"V =H | 6000 150 %75 38 | 955x70 | 755x445 @10 | 995

68x58
4"y =& | 6002 2100 95x85 10x15 | 115

=S| 200 42 X e 666 X

76x76
5"V =M™ | 6204ZZ | 250 | 21255 | 50 |115x100 X 20x11 | 155

92x66.5

68x58
5230"V = AE | 6202 200 @ o75 | 38 | 95x85 X 10x15 | 105

75.6x66

Unit : mm

Ol Al) 2" vda

®



©. PCIC.,LTD

PBC U Y= ZHAE series

Angle Caster

ME | HAE A8t BRI AE | HHE = T

, , Lo|
Material | Bearing | (Kg) 7} W F C HOLE

A

s
é
s
rE
fot

>
um

1.25" U 607 70 332 25 55x31 41x18 6.3 38

2" U TE 608 80 @50 28 | 67.7x38.3| 53.4x24 a7 59.3

2.5" U =H 608 100 264 30 80x41 63x26.5 a7 75

3"U =E 6000 150 @75 38 | 955x70 | 75.5x445| @10 | 995

68x66
" =X 6002 100 95x85 15x10 | 115
4" U T= 200 %] 42 X 75 6x58 X
68x66
5230" U g 6202 200 a75 38 95x85 X 15x10 | 105
75.6x58

Unit : mm

Ol Al) 2" vds

AME[=#Hz  EtY

@



WWW.pcic.co.kr

= 2| series

R 2u7)7)
NEWS | gEME A= —
sz Nz L I L Py
@ Kg
75
PVC o[ 400 600 Q: . 130 136
1
PU Axp 460 760 2’(4,20 150 160
HC - 04
125
HPU =x} 550 850 ”(5,,) 180 195
150
ER Cyx} 600 900 ”(6,,) 200 230
Unit : mm

OA]) HC-04 PVC ojL

Algl= Hzs FE  ALO|=




Q. PCIC..LTD

AL Y= series

¢ Hofot ol g 22ty &0
* 71 Rxz Qs YRy Y3
@ PBC 3000 Series Caster 822 QY AQl S

o
& Ot IHAH 822 EX0 &A A

390mmO|4t

FLfHt th(X)

72 .
izt BFINE | X87Hs Caster i
WZ AtO|= EIElS 9
2 X} PVC 2500 3000
40 x 40 x 3T | 270 0|4t
» 110
PU 3100 3200
_ OH=
AL-eE (700 x 470 7|Z)
CH Xt HPU 3000 5000
* 40 x 40 x 4T | 390 0|4
ER 5101 5200
Unit : mm
Of| A]) AL Y= CH X} FNAE{MEH, LHZ ALO|= (7|EFZ2])
Alg|l= M= Ao|= MEdALE

()



FHAE 2] M8 U™

4 h

W+Wd)*S
Wc = ( Y )* =(kgf/pcs)

Wc : JHAE2| 5| 85tF (kgf)
W : Ml =2| 55 (kgf)

Wd : t xt2| 5+& (kgf)

N : HFF| 2| =&F (pcs)

K S: & (1.33) /
/g h

|2 o1& 600kgf

CHXt2| oS 50kgf

HR 2| =2 4pcs

2tHE 1.33 2o HiF 2| ol oS AlLHUH

(600+50)*1.33
Wc = = 216 kgf/pcs

- 4 /




Greeting
Dear customers!

First all, we thank our customers
choosing and supporting our products.

Quality is the driving force behind every
Parkwon products. This is why we
continue to invest in high level of
manufacturing equipment and people
who know how to use it.

Specially trained personnel using the
latest computer controlled technology
deliver high levels of quality impossible
to achieve using conventional meth-
ods.

We are dedicated entirely to solving
customers’ mobility problems impro-
ving product design, and using
innovative manufacturing mothodology.
Our history and experience in
manufacturing automation result in the
highest quality and value for our
customers.

This combination of mobility design,
modern material innovations and
automation make PCIC solving today’s
mobility challenes while keeping an
gyes on tomorrow’ s.

Thanks again...

October. 2015
PCIC Co., Ltd
|.G.PARK, President



20234 1HRJEE

2 A THIIE SHAAI EERS
& 3t:(031)227-0982
o A :(031)227-6674
e-mail : pcic@pcic.co.kr

WWW.pCic.co.kr

D

PCIC CO., LTD.
&) Il Kl OF Ol M




	표지1
	표지2
	피씨아이씨-1-28
	피씨아이씨-29-42
	피씨아이씨-43-60
	피씨아이씨-61-74
	표지75
	표지76



